IN THE UNITED STATES DISTRICT COURT FOR THE NORTHERN DISTRICT OF TEXAS DALLAS DIVISION

SECURITIES AND EXCHANGE	§	
COMMISSION,	§	
	§	
Plaintiff,	§	
30 /	§	
v.	& & & & & & & & & & & & & & & & & & &	No. 3:22-cv-2118-X
	§	
TIMOTHY BARTON,	§	
CARNEGIE DEVELOPMENT, LLC,	§	
WALL007, LLC,	§	
WALL009, LLC,	§	
WALL010, LLC,	\$\text{\$\phi\$} \text{\$\phi\$} \	
WALL011, LLC,	§	
WALL012, LLC,	§	
WALL016, LLC,	§	
WALL017, LLC,	§	
WALL018, LLC,	§	
WALL019, LLC,	§ §	
HAOQIANG FU (A/K/A MICHAEL FU),		
STEPHEN T. WALL,	& & & & & & & & & & & & & & & & & & &	
	§	
Defendants,	§	
	§	
DJD LAND PARTNERS, LLC, and		
LDG001, LLC,	§	
	§ §	
Relief Defendants.	§	

APPENDIX IN SUPPORT OF RECEIVER'S THIRD QUARTERLY FEE APPLICATION

Respectfully submitted,

RECEIVER CORTNEY C. THOMAS

/s/ Cortney C. Thomas
Cortney C. Thomas
State Bar No. 24075153

cort@brownfoxlaw.com

Brown Fox PLLC 8111 Preston Road, Suite 300 Dallas, Texas 75225

T: (214) 327-5000 F: (214) 327-5001

CERTIFICATE OF SERVICE

Pursuant to Fed. R. Civ. P. 5(d)(1)(B), as amended, no certificate of service is necessary because this document is being filed with the Court's electronic-filing system.

EXHIBIT	DESCRIPTION	APP PAGES
A	Standardized Fund Accounting Report for the period April 1, 2023 through June 30, 2023	APP001-003
В	Receiver's invoice for services provided April 1, 2023 through June 30, 2023	APP004-028
С	Brown Fox invoice for services provided April 1, 2023 through June 30, 2023	APP029-071
D	Ahuja & Clark invoice from for services provided April 1, 2023 through June 30, 2023	APP072-083
Е	Veracity Forensic invoice from for services provided April 1, 2023 through June 30, 2023	APP084-091

EXHIBIT A

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 5 of 94 PageID 10325

Timothy Barton Receivership Entities Civil Action No.: 3:22-CV-2118-X Standardized Fund Accounting Report As of June 30, 2023

1	Beginning Balance - April 1, 2023:		\$ 478,598.36
2	Business Income		204,650.27
3	Funds Received		617,724.58
4	Interest/Dividend Income		4,490.01
5	Business Asset Liquidation		
6	Personal Asset Liquidation		
7	Third-Party Litigation Income		
8	Miscellaneous - Other		
9	Disbursements to Investors		
10	Disbursements for Receivership Operations:		899,653.55
10	10a Disbursements to Receiver or Other Professionals	445,779.23	033,033.33
	10b Business Asset and Operating Expenses	430,321.42	
	10c Personal Asset Expenses	430,321.42	
	10d Investment Expenses		
	10e Third-Party Litigation Expenses		
	10f Tax Administrator Fees and Bonds		
	10g Federal and State Tax Expenses	23,552.90	
	Tog rederar and state rax expenses	23,332.90	
11	Disbursements for Distribution Expenses Paid by the Fund		_
	11a Distribution Plan Development Expenses		
	11b Distribution Plan Implementation Expenses		
	110 Distribution Flat implementation Expenses		
12	Disbursements to Court/Other		-
	12a Court Registry Investment System (CRIS) or other banking fees related to the Fund.12b Federal income taxes		
13	Ending Balance - June 30, 2023		\$ 405,809.67
1.4	Ending Balance of Fund - Net Assets		405 900 67
14		405 000 67	405,809.67
	14a Cash & Cash Equivalents 14b Investments	405,809.67	
	14c Other Assets or Uncleared Funds		
	14C Other Assets of Officeared Fullus		
15	Disbursements for Plan Administration Expenses Not Paid by the Fund		
13	15a Plan Development Expenses Not Paid by the Fund		
	15b Plan Implementation Expenses Not Paid by the Fund		
	15c Tax Administrator Fees & Bonds Not Paid by the Fund		
	150 Tax. Tax. Institute 1 CCS & Sories Not 1 and by the 1 and		
16	Disbursements to Court/Other Not Paid by the Fund		
10	16a Court Registry Investment System (CRIS) or other banking fees related to the Fund		
	16b Federal income taxes		

Timothy Barton Receivership Entities Civil Action No.: 3:22-CV-2118-X Standardized Fund Accounting Report As of June 30, 2023

- 17 DC & State Tax Payments
- 18 No. of Claims
 - 18a the number of claims received from investors during this reporting period the number of claims received from investors as a result of all orders since the 18b inception of the Fund
- 19 No. of Claimants/Investors
 - 19a the number of claimants/investors receiving distributions during the reporting period the number of claimants/investors receiving distributions pursuant to all orders of 19b distribution since the inception of the Fund

EXHIBIT B



8111 Preston Road, Suite 300 Dallas, Texas 75225 Phone: (214) 327-5000 brownfoxlaw.com/payments

BROWN FOX

INVOICE

Invoice # 36302 Date: 08/14/2023

Barton Receivership

SEC v. Barton – Case Administration

Services

Date	Initials	Description	Hours	Rate	Client Total
04/03/2023	CCT	Organize correspondence file. [No charge]	0.80	\$0.00	\$0.00
04/04/2023	CCT	Cursory review of Receivership bank account statements; correspondence with accountants regarding same and need for SFAR; coordinate creation of Cash Accounting Summary.	0.70	\$385.00	\$269.50
04/04/2023	CCT	Begin drafting Fee Application for 1Q23. [No charge]	0.20	\$0.00	\$0.00
04/06/2023	CCT	Virtual meeting with accountants regarding status of receivership; continue reviewing and executing additional Form 56s for IRS from accountants.	0.70	\$385.00	\$269.50
04/06/2023	CCT	Meeting with Goldmark property manager to discuss landscaping and DHA payments. [No charge]	0.60	\$0.00	\$0.00
04/10/2023	ССТ	Continue organizing correspondence file. [No charge]	0.60	\$0.00	\$0.00
04/10/2023	CCT	Correspondence with former employee regarding tax documents; review tax documents for purposes of same.	0.20	\$385.00	\$77.00
04/11/2023	CCT	Continue organizing Receivership correspondence file. [No charge]	0.60	\$0.00	\$0.00

Case 3	3:22-cv-021	.18-X	Docur	ment 301	Filed 08/3	14/23	Page	e 9 of 94	PageID	10329
04/11/2023	CCT	summa telepho	aries for	First Quarte erence with	eash accounting of 2023; reverse former employees	ise same	e;	0.70	\$385.00	\$269.50
04/12/2023	CCT		nue revisi o accoun	-	ounting sumn	nary; sen	nd	0.20	\$385.00	\$77.00
04/12/2023	CCT		er; conti		Amerigold pro ing correspon		le.	0.90	\$0.00	\$0.00
04/13/2023	CCT		•		city Forensics t 2999 Turtle	_	ng	0.20	\$385.00	\$77.00
04/13/2023	CCT				roperty mana checks. [No c			0.40	\$0.00	\$0.00
04/15/2023	CCT	Contin		ng Fee App	lication for 10	Q23. [No)	2.10	\$0.00	\$0.00
04/16/2023	CCT	Contin	_	izing corres	spondence file	e. [No		2.10	\$0.00	\$0.00
04/17/2023	CCT	_	Turtle C [No char		ck status of a	uctionee	rs'	0.50	\$0.00	\$0.00
04/18/2023	CCT	litigati update	on stay; j	provide con	notion to confi nments to T. V site regarding	Wells; dr		0.40	\$385.00	\$154.00
04/19/2023	CCT	Contin		ng fee appli	cation for 1Q	23. [No		0.30	\$0.00	\$0.00
04/20/2023	CCT	Contin		ng 1Q23 fee	e application.	[No		1.10	\$0.00	\$0.00
04/20/2023	CCT	1Q23; reconc	review d	raft SFAR teash accoun	counting Sum from accounta ting summary intants regard	ants;		0.40	\$385.00	\$154.00
04/21/2023	CCT	Contin	ue drafti	ng Fee App	lication. [No	charge]		0.40	\$0.00	\$0.00
04/23/2023	ССТ		ue organi		lication for 10 pondence file			1.10	\$0.00	\$0.00
04/24/2023	CCT	Contin		ng Fee App	lication for 10	Q23. [No)	1.50	\$0.00	\$0.00

Case 3:	22-cv-021	18-X Doc	ument 301	Filed 08/14/23	Page 10	of 94	PageID	10330
04/26/2023	CCT	Continue dra	afting Quarterl	y Status Report (1Q2	23).	3.90	\$385.00	\$1,501.50
04/27/2023	CCT	Continue dra	afting Quarterl	y Status Report (1Q2	23).	2.90	\$385.00	\$1,116.50
04/28/2023	CCT	Continue dra	afting Quarterl	y Status Report (1Q2	23).	2.10	\$385.00	\$808.50
04/28/2023	CCT	•	h Amerigold p oll checks. [No	roperty manager to charge]		0.60	\$385.00	\$231.00
04/30/2023	CCT			tatus Report (1Q23) nip website regarding		1.40	\$385.00	\$539.00
05/01/2023	CCT	Listen to Fif Receivership		arguments on appeal	of	0.90	\$385.00	\$346.50
05/05/2023	CCT	-		untants regarding stans from V. Palepu.	tus	0.10	\$385.00	\$38.50
05/08/2023	ССТ		wing reply on pgin revising sa	proposed privilege me.		0.40	\$385.00	\$154.00
05/08/2023	ССТ	coordinate re		lication for 1Q23; vileged and other [No charge]		0.40	\$0.00	\$0.00
05/09/2023	CCT			ng draft of reply in ol; continue revising		1.80	\$385.00	\$693.00
05/09/2023	CCT	coordinate re		lication for 1Q23; vileged and other [No charge]		0.50	\$0.00	\$0.00
05/10/2023	CCT	coordinate re		lication for 1Q23; vileged and other [No charge]		0.90	\$0.00	\$0.00
05/11/2023	CCT	coordinate re		lication for 1Q23; vileged and other [No charge]		2.10	\$0.00	\$0.00
05/11/2023	CCT		waiting for for ountant. [No c	mer Receivership harge]		1.80	\$0.00	\$0.00
05/11/2023	ССТ		h Amerigold p yroll. [No cha	roperty manager rge]		0.50	\$0.00	\$0.00
05/11/2023	CCT	accountant r tax return in	egarding refus formation; leng	ivership Entity al to provide access t gthy meeting with eivership Entities to		2.30	\$385.00	\$885.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 11 of 94 PageID 10331

			<u> </u>		
		access to Receivership Entities' tax records from 2018-2020; correspondence with accountants regarding same.			
05/12/2023	CCT	Review franchise tax extension requests; execute same.	0.60	\$385.00	\$231.00
05/12/2023	ССТ	Continue drafting fee application for 1Q23; correspondence with M. Edney for purposes of certificate of conference. [No charge]	0.80	\$0.00	\$0.00
05/15/2023	ССТ	Cursory review of order granting motion to compel; correspondence with C. Koons regarding same.	0.30	\$385.00	\$115.50
05/15/2023	CCT	Finish drafting fee application for 1Q23. [No charge]	0.60	\$0.00	\$0.00
05/18/2023	CCT	Meeting with Amerigold Property Manager to discuss status of compliance with fire safety inspection and to drop off fire extinguisher check. [No charge]	0.50	\$0.00	\$0.00
05/22/2023	CCT	Correspondence with Veracity Forensics regarding status of accessing Receivership Entities' email servers; telephone conference with potential Ridgeview creditor regarding claims process.	0.20	\$385.00	\$77.00
05/24/2023	CCT	Trip to Amerigold Suites to meet with property manager and deliver paychecks. [No charge]	0.60	\$0.00	\$0.00
05/29/2023	CCT	Correspondence with Veracity Forensics regarding status of accessing cloud data; begin reviewing declaration in opposition to motion to stay.	0.70	\$385.00	\$269.50
05/30/2023	CCT	Review revised working draft of Declaration; correspondence with C. Koonce regarding same.	0.40	\$385.00	\$154.00
06/14/2023	CCT	Correspondence with C. Koonce regarding .	0.10	\$385.00	\$38.50
06/14/2023	CCT	Correspondence with C. Koonce and T. Wells regarding	0.10	\$385.00	\$38.50
06/16/2023	ССТ	Correspondence with C. Koonce regarding .	0.10	\$385.00	\$38.50
06/22/2023	ССТ	Deliver payroll checks to Amerigold; conference with Amerigold property manager regarding same and status of sale. [No charge]	0.60	\$0.00	\$0.00
06/29/2023	CCT	Lengthy meetings with C. Koonce	2.60	\$200.00	\$520.00

	; virtual meeting with accountants ; meetings with T. Wells . [Rate reduced for lengthy internal meetings]	l		
06/29/2023 CCT	Meeting with Amerigold property manager and delivery of check. [No charge]	0.60	\$0.00	\$0.00
		Quantity Subtot	al	48.1

Services Subtotal \$9,144.00

Expenses

Date	Description	Client Total
04/01/2023	1Q23 PACER service fees.	\$274.70
04/08/2023	Fee for keys made for 2999 Turtle Creek property.	\$8.05
04/10/2023	All My Sons Movers - moving and packing fees - 2999 Turtle Creek, Dallas, TX to Public Storage, Dallas, TX.	\$9,654.30
04/11/2023	Supplies expenses - labels for boxes to move 2999 Turtle Creek.	\$63.94
05/04/2023	Public Storage - May 2023.	\$274.40
05/11/2023	Postage sending receivership letters and orders to creditors, vendors and legal counsel.	\$73.50
05/12/2023	CMRRR fee to Texas Comptroller of Public Accounts for sending 2023 Texas Franchise Tax Extensions.	\$9.34
05/12/2023	Public Storage - June 2023.	\$392.00
06/06/2023	USPS Priority Mail to Small Business Administration.	\$28.75
06/14/2023	Postage submitting Motion for Final Decree to bankruptcy matrix.	\$164.16
06/14/2023	Fee for pulling Warranty Deed - Grayson County.	\$10.00
06/27/2023	FedEx overnight delivery fee of 7 copies of Amicus Curiae to 5th Circuit Court of Appeals.	\$88.37
06/27/2023	Round trip delivery fees to JP 5-2 filing Receiver's Notice to Stay in Cause No. JS2200220P. [Court computers were down. Stay could not be filed and was returned to Receiver.]	\$67.80
06/29/2023	Round trip delivery fees to JP 5-2 filing Receiver's Notice to Stay in Cause No. JS2200220P.	\$67.80

Case 3:22-cv-02118-X	Document 301	Filed 08/14/23	Page 13 of 94	PageID 10333

06/30/2023	2Q23 Texas Secretary of State entity searches for Barton team.	\$47.19	
06/30/2023	/30/2023 2Q23 postal fees from The UPS Store for forwarding weekly mail.		
06/30/2023	2Q23 PACER service fees for Barton team.	\$463.90	
	Expenses Subtotal	\$11,919.69	

SEC v. Barton – Asset Analysis and Recovery

Date	Initials	Description	Hours	Rate	Client Total
04/03/2023	CCT	Correspondence with counsel to potential purchaser of receivership property; review LOI on Venus properties; correspondence with auditor regarding D4IN bank statements; correspondence with Opelika contractor regarding status of retainage; meeting with A. Carrillo to discuss ; telephone conference ; continue reviewing ; correspondence with T. Huffman regarding missing signature; correspondence with Greystone regarding same; review summary from J. Mahaffey regarding ; continue reviewing B. Walker background documents and contracts.	4.30	\$385.00	\$1,655.50
04/04/2023	CCT	Telephone conference with J. Kane regarding status of settlement agreement; telephone conference with C. Koonce regarding same; review cursory research regarding same; correspondence with J. Kane regarding same; review correspondence from B. Walker regarding proposal; correspondence with potential auctioneer of artwork; review working draft of fourth amendment to sale of Frisco property; correspondence with R. Salem regarding same; correspondence with former employee regarding accounting group; correspondence with T. Huffman regarding missing signature on HUD forms; correspondence with potential purchaser of Venus properties; meeting with T. Wells to discuss	5.40	\$385.00	\$2,079.00

\$21,063.69

Subtotal

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 14 of 94 PageID 10334

; correspondence with counsel to Palisades regarding status of Frisco sale; telephone conference and correspondence with potential purchaser of Venus properties; telephone conference with potential purchaser of Hall and Gillespie properties; correspondence with counsel to buyer and title company regarding Amerigold sale; cursory review of SEC's brief on Rock Creek; review working drafts of amicus brief and motion for leave to file amicus brief in support of Rock Creek appeal; meeting and telephone conferences with counsel regarding telephone conference with former Receivership Entity accountant.

04/05/2023 CCT

Correspondence with T. Huffman regarding HUD documents; correspondence with JAMS regarding upcoming mediation; telephone conference with B. Walker regarding proposal; telephone conference with M. Edney, T. Huffman, and C. Koonce regarding HUD signatures, personal property, tax returns, and other receivership items; draft letter to T. Huffman regarding HUD signatures; correspondence with counsel regarding same; review working draft of amicus brief and motion for leave; revise same; conference with counsel regarding same; meeting with former Receivership Entity accountant regarding tax returns; correspondence with accountants regarding same; telephone conference with J. Kane regarding draft settlement agreement; begin reviewing same; correspondence with A. Carrillo regarding same; correspondence and telephone conference with auditor regarding Ingleside audit; correspondence with accountants regarding same; correspondence with Greystone regarding same; correspondence with auditor regarding status of Opelika cost certification; correspondence with BC Contracting regarding liens on Opelika property; correspondence with Greystone regarding same; continue revising auction contracts; correspondence with potential auctioneers regarding same; call with M. Turner regarding potential agreement to oversee 2999 Turtle Creek.

\$385.00

\$2,040.50

5.30

04/06/2023 CCT

Continue reviewing draft settlement agreement from HN Capital; revise same; meeting with A. Carrillo to discuss same; correspondence with potential purchaser of Receivership properties; correspondence with auditor regarding status of Opelika audit; correspondence with T. Huffman 4.80 \$385.00 \$1,848.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 15 of 94 PageID 10335

		.10 /\ Document 001 nica 00/14/20 1	ago _0 0. 0 .	. ago.b	
		regarding status of final signature for Opelika HUD document; correspondence with Greystone regarding Ingleside transaction; correspondence with auditor regarding same; telephone conference with A. Horton regarding status of Opelika cost certification; telephone conference and correspondence with potential purchaser of Venus properties; finish revising auction contracts; correspondence with auctioneers regarding same; begin reviewing working draft of motion for summary judgment related to HUD properties.			
04/07/2023	CCT	Correspondence with Greystone regarding initial deposit from Borrower; correspondence with S. Latham regarding information from seller; correspondence with Commonwealth title regarding same; review map of 2999 TC for plan for categorizing and removing documents; lengthy meeting with auctioneer at 2999 Turtle Creek; locate and segregate items identified as personal property by T. Barton with T. Wells; search for documents needed for Opelika cost certification; continue reviewing audit documents for D4IN; execute same.	5.90	\$385.00	\$2,271.50
04/10/2023	CCT	Continue extensive review and revisions to motion for summary judgment regarding HUD apartments; telephone conference and correspondence with J. Kane regarding status of settlement agreement; telephone conference and correspondence with potential mover of shelving and file cabinets before document movers; correspondence with auctioneer regarding status of inventory; correspondence with auditor regarding D4OP cost certification; correspondence with Rock Creek broker regarding extension of closing date.)	\$385.00	\$1,347.50
04/11/2023	CCT	Continue reviewing working draft of motion for summary judgment against Southern Properties; continue revising same; lengthy telephone conference with C. Koonce to discuss same; correspondence with art auctioneer regarding executed agreement; telephone conference with Rock Creek purchaser regarding extension of closing date; telephone conference with broker regarding same; correspondence with potential interested purchaser of Turtle Creek property; prepare for call with auditor regarding Opelika cost certification; participate in same; begin reviewing working draft of mediation statement for Dixon mediation; correspondence with B. Walker;	5.30	\$385.00	\$2,040.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 16 of 94 PageID 10336

correspondence with potential interested purchaser of 2999 Turtle Creek; correspondence with potential broker for Venus properties; correspondence with appraiser regarding status of various outstanding appraisals.

		various outstanding appraisais.			
04/12/2023	CCT	Meeting with counsel to discuss ; telephone conferences with J. Kane regarding status of settlement agreement; telephone conference with V. Nambiar regarding same; review working draft of mediation statement for purposes of Dixon mediation; revise same; telephone conference with A. Carrillo regarding same; review working draft of motion to approve settlement with HNGH; revise same; telephone conference with A. Carrillo regarding same; continue reviewing working draft of motion for summary judgment; telephone conference and correspondence with counsel regarding same.	5.80	\$385.00	\$2,233.00
04/12/2023	CCT	Meetings at 2999 Turtle Creek and Receivership storage units with shelving and file cabinet mover in connection with vacating 2999 Turtle Creek. [meetings were sporadic between 9:45 and 6 pm; majority of time spent working on other matters]	3.30	\$200.00	\$660.00
04/13/2023	CCT	Correspondence with T. Huffman regarding signature on HUD retainage request for Opelika; correspondence with Greystone regarding same; correspondence with contractor regarding same; telephone conference with C. Koonce regarding ; continue reviewing working draft of motion for summary judgment; continue revising same; review declaration in support; revise same; correspondence with counsel to Palisades regarding status of Frisco Gate closing and 2999 Turtle Creek; correspondence with J. Kane regarding status of settlement agreement; correspondence with Receivership bank regarding Goldmark account; review additional documentation from B. Walker; telephone conference and lengthy correspondence with B. Walker regarding same; telephone conference with potential interested purchaser of 2999 Turtle Creek.	5.50	\$385.00	\$2,117.50
04/14/2023	CCT	Correspondence with counsel to subcontractor on Opelika property regarding removal of lien; correspondence with auctioneers regarding prints stored in garage; prepare for and participate in call	0.70	\$385.00	\$269.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 17 of 94 PageID 10337 with purchaser of Frisco Gate and purchaser's counsel regarding working draft of Fourth Amendment to Purchase and Sale Agreement and needed revisions to same; correspondence with counsel to HNGH regarding finalized settlement and motion to approve same; correspondence with A. Carrillo regarding same. 04/16/2023 CCT Correspondence with potential purchaser of Hall 0.90 \$385.00 \$346.50 and Gillespie properties; review revised working draft of Fourth Amendment to Frisco Gate Purchase and Sale Agreement; correspondence with counsel to Petra regarding same; correspondence with M. Edney and T. Huffman regarding motion to approve HNGH settlement; correspondence with counsel to Opelika subcontractor regarding potential release of lien; draft update to Receivership Website regarding SPC Motion for Summary Judgment. 04/17/2023 CCT Correspondence with Opelika auditor regarding 5.30 \$385.00 \$2,040.50 status of cost certification; correspondence with Greystone regarding same; telephone conference and correspondence with counsel to Opelika subcontractor; correspondence with counsel to Palisades regarding HNGH settlement and forthcoming motion to approve; correspondence with SEC regarding same; meeting with C. Koonce to discuss correspondence with auctioneer regarding antiques at Rock Creek property; review final working draft of motion to approve settlement with HNGH; revise same; review Barton's "Notice" regarding offers to purchase Turtle Creek; review proposed order in support of same; revise same; coordinate filing of same; telephone conference with purchaser of Rock Creek residence regarding need to extend lease and closing date; meeting with counsel to discuss same; telephone conference with Rock Creek broker regarding same; telephone conference with A. Carrillo regarding 04/18/2023 CCT Correspondence with B. Walker; telephone 2.20 \$385.00 \$847.00 conferences with A. Carrillo regarding t; cursory review of auction items; correspondence with auctioneer regarding same and items needing to be removed; prepare for call with Rock Creek purchaser regarding potential extension; participate in same; telephone conference with broker regarding same; meeting

Cusc o.	.22 00 021	10-V Document 201	1 11CG 00/14/23	1 age 10 01 54	i ageib	10000
		with T. Wells to discuss				
04/19/2023	CCT	Telephone conference with others regarding upcoming mediation; correspondence regarding Fourth Amendmereview same; execute same Amerigold broker regarding company; correspondence regarding status of sale of correspondence with title oproperty; correspondence property regarding status of with title company regarding date on Rock Creek Proper potential purchaser of Ven reviewing additional documents of the property correspondence with the company regarding status of the property regarding sta	g Dixon/Lumar e with counsel to Petra eent to Frisco Gate PSA ee; correspondence with ng issues raised by title with Frisco lender Frisco Gate property; company on Amerigolo with lender on Hall of sale; correspondence ng extension of closing rty; correspondence with us tracts; continue ments from B. Walker	A; n d e g ith	\$385.00	\$1,232.00
04/20/2023	CCT	Correspondence with Amereview updated list of item Turtle Creek; telephone co correspondence with count correspondence with count ; Hale regarding upcoming p correspondence with intered Turtle Creek; telephone co regarding package delivery Whittington.	as to be auctioned from onference and sel regarding same; sel regarding correspondence with pre-mediation meeting ested purchasers of 299 onference with courier	J .	\$385.00	\$500.50
04/21/2023	CCT	Telephone conference and Koonce regarding review working of contents of 2999 Turtle conference and correspond regarding same; review up of items to be included in a with counsel to Amerigold	draft of notice of aucti- Creek; telephone lence with C. Koonce dated picture inventor auction; correspondence	on	\$385.00	\$308.00
04/23/2023	CCT	Correspondence with auctionantiques; correspondence virequests for information.		0.20	\$385.00	\$77.00
04/24/2023	CCT	Continued correspondence regarding responses to req telephone conference with purchaser regarding reques	uests for information; counsel to Amerigold	5.30	\$385.00	\$2,040.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 19 of 94 PageID 10339

		purchase price reduction; lengthy telephone conferences with broker regarding same; begin preparing for mediation; lengthy meeting with C. Koonce regarding same; telephone conference and correspondence with title company on Amerigold Property regarding old items on title report; telephone conference and correspondence with Opelika auditor regarding status of cost certification; meeting at Chase bank to get most recent bank statements for purposes of same; review receivership Canopy account.			
04/25/2023	CCT	Finish preparing for Dixon mediation; attend same at JAMS; correspondence with Amerigold purchaser and counsel to Amerigold purchaser regarding requested price reduction; correspondence with broker regarding same. discussions with counsel regarding ; correspondence with auctioneer regarding same; correspondence with counsel to Palisades; correspondence with Amerigold property manager regarding status of rent payments and Dallas Housing Authority; correspondence with potential broker on TC Hall properties. [Time reduced from 9.6 total hours for time spent working on other matters during mediation]	8.70	\$385.00	\$3,349.50
04/27/2023	CCT	Correspondence with Frisco purchaser regarding executed amendment; correspondence with Frisco lender regarding same; correspondence with Palisades regarding same; correspondence with title company regarding same; correspondence with counsel regarding letters from IRS and Chase; review proposed amendment to Amerigold PSA; revise same; correspondence with counsel to Amerigold purchaser regarding same; correspondence with Amerigold broker regarding same; telephone conference with counsel regarding status of auction of contents of 2999 Turtle Creek.	1.10	\$385.00	\$423.50
04/28/2023	CCT	Review Barton's objection to sale of contents of Turtle Creek; telephone conference with C. Koonce regarding ; telephone conference with potential purchaser of Venus properties; telephone conferences and correspondence with auctioneer regarding same; telephone conference and correspondence with auctioneer; correspondence with J. Kane regarding same; research contact information for S. Baruch and counsel; telephone conference with former counsel	3.80	\$385.00	\$1,463.00

Case 3:	22-cv-021	18-X	Document 3	01	Filed 08/1	4/23	Pag	je 20 of 9	4 PageID	10340
to S. Baruch regarding same; telephone conference and correspondence with A. Baruch regarding same; telephone conference with Amerigold broker regarding due diligence period and closing date; telephone conference and correspondence with industry professional regarding Venus properties.										
04/30/2023	CCT		spondence with I ming meeting. [N	\$0.00	\$0.00					
05/01/2023	CCT	length with A Turtle lende dilige Home teleph check with I Amer forme insure Prope corres	re for meeting with It A. Baruch regard e Creek garage; or regarding PSA, noce period; corrects regarding statution conference with to D4DS; meeting property tax consigned tax hike; correct accountant's of er and City of Darty; meeting with spondence with the property.	B. Wing process ame assports of with a wilter prices; fice; files in T. View and T. View a	ralker; correspondence with condence with L Ridgeview sa L. McAfee reach the C. Koonce ; correspondence with the correspondenc	th Frisce due due due due due due due due due du	ce general	3.70	\$385.00	\$1,424.50
05/02/2023	CCT	purch corres same; corres of 410 Amer receiv with 0 contin Barto 2999 declar confe	spondence with caser regarding chappendence with Recorrespondence spondence with por Rock Creek; conjugate of Venus regular reviewing words to be provided in support of the case with C. Karana to repair issues.	angiangia kepul with oten orresanaganfero gardiorkin motinu of sa oonce	ing title comp blic Title regar blic Title regar in broker regar- tial interested spondence wi ger regarding ence and corr- ing status of p ing draft of respon to sell con- tie revising same; telephon the regarding on ference wi	anies; arding ding san purcha th rents esponde ropertie conse to tents of me; draf e	ence es;	4.50	\$385.00	\$1,732.50
05/03/2023	CCT	respo	ng with T. Wells draft declarse to Barton's orty; further revision	larati bject	ion in supportion regarding	g person		2.50	\$385.00	\$962.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 21 of 94 PageID 10341

telephone conference and correspondence with
counsel regarding same; correspondence regarding
new title company for Amerigold property;
correspondence with Amerigold broker regarding
same; telephone conference and correspondence
with Amerigold lender regarding status of closing
and title items needing to be cleaned up;
correspondence with B. Walker regarding
payments received from Broadview Holdings;
review working draft of response to motion to
strike; telephone conference with counsel regarding
same; correspondence with Lillian Homes
regarding status of negotiations with City of
Venus; correspondence with C. Koonce and T.
Wells regarding
Virtual masting and correspondence with tay

05/04/2023	CCT	Virtual meeting and correspondence with tax protest firm regarding Amerigold property.	0.40	\$385.00	\$154.00
05/05/2023	ССТ	Telephone conference with consultant regarding Venus properties.	0.20	\$385.00	\$77.00
05/08/2023	CCT	Correspondence with T. Wells regarding	3.40	\$385.00	\$1,309.00

; correspondence with A. Carrillo regarding

; correspondence with potential purchaser of Hall property; telephone conference and correspondence with potential tax protestor for non-Amerigold properties; cursory research into same; correspondence with lender on Hall property; correspondence with potential broker regarding Hall property; telephone conference with D4OP auditor regarding status of cost certification; correspondence with Frisco purchaser regarding status of sale; correspondence with counsel to Amerigold purchaser regarding requested amendment and potential closing date; review Tamamoi's draft motion to intervene; telephone conference with counsel to Tamamoi regarding same; telephone conference and correspondence with potential electrician for replacing panels at Gillespie to maintain insurance coverage; correspondence with broker regarding same; correspondence with potential purchaser of

Hall property.

05/09/2023 CCT Correspondence with title company on Amerigold 1.50 \$385.00 \$577.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 22 of 94 PageID 10342

Case 3	:22-cv-021	L18-X	Document 30	1 Filed 08/14/23	Page 22	of 94	PageID	10342
		Amer regard HNGI begin with J couns correst of Turpoten proper interest correst regard.	ding same; corresponding same; corresponding Barton's respondence with potential interested purcerty; telephone confisted purchaser of Tables	oker on TC Hall propert ceived; telephone	ce vith			
05/10/2023	CCT	Hall be steps; settler with a with le	broker regarding list begin reviewing was ment; begin revising counsel regarding standard on TC Hall properties. Wells regarding continue reviewing ment, revise same; ster regarding same rence with Rock Crafter term lease and incres; correspondence rence with purchase.	g property tax services correspondence with ta e; prepare for telephone reek purchaser regardir crease in rent; participa e regarding same; teleplater of Frisco property ng agreement and dispu	e ence ce	2.90	\$385.00	\$1,116.50
05/10/2023	ССТ		ng with buyer's br harge]	oker on Frisco property	7.	0.40	\$0.00	\$0.00
05/11/2023	CCT	purch corres regard corres regard title c Goldr Amer with I	aser regarding statespondence with tax ding TC Hall and F spondence with pur- ding same; corresp- ompany regarding mark condo associations igold broker regarding Hall broker regardi	rchaser of Frisco proper ondence with Amerigol affidavit terminating thation; correspondence values same; correspondence	A; tty d dee vith nce	5.90	\$385.00	\$2,271.50

conference and correspondence with Amerigold broker regarding same; correspondence with counsel to Amerigold purchaser regarding same; correspondence with Rock Creek purchaser regarding longer-term lease; correspondence with J. Mahaffey regarding same; review background information regarding disputes in preparation for meeting 3820 Illinois; attend lengthy meeting with counsel to 3820 Illinois.

05/12/2023 CCT

Cursory review of Southern Properties' Reply in support of motion to strike summary judgment motion as to Ingleside and Opelika; correspondence with counsel regarding same; telephone conference

; telephone conference and correspondence with Amerigold broker regarding second amendment to PSA; correspondence with counsel to Amerigold purchaser regarding same; telephone conference with potential purchaser of DeSoto and Forney properties regarding status of Southern Properties dispute; correspondence with counsel to 3820 Illinois.

05/15/2023 CCT

Correspondence with auctioneer regarding continued delay on sale of contents of Turtle Creek office; meeting with C. Koonce to

correspondence with T. Wells regarding

; correspondence with cost certification auditor regarding same; correspondence with counsel to Amerigold purchaser regarding change in title company; correspondence with Amerigold title company regarding same; correspondence with A. Carrillo regarding ; review order approving HNGH settlement; meeting

review order approving HNGH settlement; meeting with C. Koonce to discuss same; correspondence with J. Kane regarding same; correspondence with Vista Bank regarding funds held in Receivership account; correspondence with C. Koonce regarding

05/16/2023 CCT

Correspondence with B. Walker regarding proposal; revise same; correspondence with City of Venus regarding status of Ridgeview sale; review working draft of lease with Rock Creek purchaser; revise same; telephone conference with J. Mahaffey regarding same; correspondence with

2.80 \$385.00 \$1,078.00

\$385.00

\$539.00

1.40

3.40

\$385.00

\$1,309.00

Rock Creek purchaser regarding same; correspondence with broker regarding same; meeting with C. Koonce to discuss ; telephone conference with J. Kane regarding order approving settlement with HNGH; correspondence with A. Carrillo regarding same; telephone conference and correspondence with potential interested purchaser of Venus properties; telephone conference with counsel to Dixon regarding settlement agreement; correspondence with Amerigold broker regarding estimated closing date; correspondence with counsel to Amerigold purchaser regarding same; correspondence with title company regarding same; cursory review of Barton's notices of appeal; telephone conference with C. Koonce regarding same. \$385.00 05/17/2023 CCT 2.40 \$924.00 Correspondence with J. Kane regarding Barton appeal; correspondence with Amerigold broker regarding Barton's Notice of Appeal; correspondence with C. Koonce regarding same; correspondence with Amerigold purchaser regarding same; correspondence with potential purchaser of Venus Properties; continue reviewing fire inspection report for Amerigold; telephone conference with inspector regarding same; telephone conferences with potential contractor regarding same; telephone conferences with Amerigold property manager regarding same; review working draft of stipulation of dismissal of 2999 TC appeal; telephone conference with J. Kane regarding same. 05/18/2023 CCT Correspondence with HNGH regarding access to 3.60 \$385.00 \$1,386.00 Turtle Creek property; meeting with T. Wells to telephone conference with Amerigold property manager regarding work needed in commercial kitchen; correspondence with contractor regarding same; correspondence with used equipment company regarding same; telephone conference with C. Koonce regarding correspondence with Amerigold purchaser regarding appeal; correspondence with title company regarding same; continue reviewing Hall BOV; correspondence with Amerigold property manager regarding fire extinguisher costs in light of Fire Inspector's audit; correspondence with

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 25 of 94 PageID 10345 Rock Creek purchaser regarding lease; correspondence with potential purchaser of Venus properties; review appraisal for Bacchus statue; correspondence with appraiser regarding same; correspondence with J. Kane regarding filings in appeal and adversary proceeding. 05/19/2023 CCT Meeting with T. Wells to discuss 1.20 \$385.00 \$462.00 ; telephone conference with C. Koonce regarding correspondence with J. Kane regarding dismissal of appeal and adversary proceeding; correspondence with potential interested purchaser of Gillespie property; correspondence with potential interested purchaser of other receivership property; telephone conference with contractor from Venus properties; review Barton's responses to Court order; meeting with T. Wells to discuss same. 05/20/2023 CCT Review working draft of motion to intervene and 0.50 \$385.00 \$192.50 dismiss Amerigold appeal; revise same; correspondence with C. Koonce regarding same. 05/22/2023 CCT Correspondence with tax protest advisor regarding 3.70 \$385.00 \$1,424.50 offer from DCAD on Amerigold protest; correspondence with Amerigold broker regarding same; correspondence with Amerigold title company regarding appeal; telephone conference with C. Koonce regarding correspondence with Hall broker regarding status of listing; correspondence with B. Walker; review insurance renewal application for SF Rock Creek; correspondence with T. Wells regarding same; review working draft of Declaration in support of Emergency Motion to Intervene and to Dismiss the Amerigold appeal; cursory review of Venus appraisals; telephone conference with potential purchaser of Hall property; meeting with A. Carrillo to discuss ; correspondence with HN Capital regarding turnover of utilities; correspondence with Rock Creek purchaser regarding status of lease; review draft motion for final decree in 2999 TC bankruptcy; begin reviewing HUD auditor report; correspondence 05/22/2023 CCT Trip to 2999 Turtle Creek and then to Tesla to 1.80 \$0.00 \$0.00 return leased vehicle. [No charge]

Case 3	:22-cv-021	18-X	Document 3	01	Filed 08/14/23	Page 26	of 94	PageID 2	10346
05/23/2023	CCT	Amerinterv Opelil corres meetin discus auctio corres prope	igold lender reg ene and dismiss ka contractor reg pondence with on and corresponsis	arding congarding congarding congarding congarding conference conf	rstone regarding same; nce with A. Carrillo to ; begin check pulled items included; er on Rock Creek rence with potential	cing	1.40	\$385.00	\$539.00
05/23/2023	CCT	Meeti	ng				2.10	\$385.00	\$808.50
05/24/2023	CCT	regard with p proper Luma A. Ca with I confer	ling status of ex potential interest rty; review prop r settlement agre rrillo to discuss Lilian Homes; par rence	ecuted posed osed eeme sam artic	h Rock Creek broker ed lease; corresponder urchaser of Gillespie I revisions to Dixon ar ents; brief meeting wit e; prepare for meeting ipate in same; telephor ne conference with	nd h	1.80	\$385.00	\$693.00
05/25/2023	CCT	regard appea Greys partice corres resolu Wells couns corres regard	ling title compared in the property of the pro	ny's ephol lraft leph Γ. W ; Grey corr ; cor	nsel to Amerigold inability to close pendone conference with D4OP cost certification cone conference and rells regarding additional restone regarding potent espondence with T. respondence with prigold purchaser denial of expedited	on;	1.40	\$385.00	\$539.00
05/26/2023	ССТ	regard corres needin	ling status of cloop pondence with	sing nucti rom	oneer regarding items auction; corresponder		0.30	\$385.00	\$115.50
05/30/2023	CCT	status teleph	of settlement ar one conference	ıd B and	h J. Kane regarding arton's motion to stay correspondence with orrespondence with		1.10	\$385.00	\$423.50

Case 3:2	22-cv-021	18-X	Docume	nt 301	Filed	08/14/23	Page	27 of 94	PageID 1	L0347
		corres Marin third a	pondence w e Creek peri mendment t	ith City mit fees to Amer	of Fort V; cursory	enus property Vorth regardi review of dra A; egarding sam	ng aft			
05/31/2023	CCT	potent corres proper proper	ial purchase pondence w ; correspor rty regarding rty; correspo gold purcha ce regarding	; cor of Venith C. K ndence vondence vondence ser; cor	correspond nus prope Loonce reg with broke of offer to with cour	dence with rty; garding er for Hall o sell Hall ensel to		0.80	\$385.00	\$308.00
06/01/2023	CCT	corres Verac with b listing	pondence w pondence w ity's access t	ith auction ith Vera to informall proper lence which J. M.	ioneer reg acity Fore mation; co erty regard ith counse ahaffey re orrespond	,	ng ee	0.70	\$385.00	\$269.50
06/02/2023	CCT	audito amour of Gil Opelil of lier manag	lespie prope ka contractor ; correspond ger regarding	; corrintent to ondence rty; revi r and Gradence w g payme rrespon-	responden o pay back with pote iew corres reystone r with Ameri ents from dence wit	ce with Opel c missing ential purchase spondence from egarding releating releating propert DHA; teleph ch auctioneer	ser om ease y	0.90	\$385.00	\$346.50
06/06/2023	ССТ	regard	pondence w	f sale; te ith T. W	elephone (Vells rega	conference ar		0.40	\$385.00	\$154.00
06/06/2023	ССТ	- ,	spondence w corresponde gold proper	ence wit	th contrac		to	0.60	\$385.00	\$231.00

Case 3:	22-cv-021	18-X Document 301	Filed 08/14/23	Page 28 of 9	94 PageID	10348
		Second Fee Application; counsel regarding same; counsel to Palisades regar and 2999TC settlement.	correspondence with	ale		
06/07/2023	ССТ	Correspondence with T. V ; review HN Capital's Amicus Brief; review Bar	s Motion for Leave to		\$385.00	\$154.00
06/08/2023	ССТ	Review draft settlement a Tamamoi; correspondence same; telephone conference with C. Koonce regarding correspondence with American Status of sale.	e with counsel regardinges and correspondences;	ng e	\$385.00	\$423.50
06/09/2023	CCT	Review Barton's Reply in Stay 2999 Turtle Creek se conference and correspon regarding same; correspon broker.	ettlement; telephone dence with C. Koonce	0.40 t	\$385.00	\$154.00
06/12/2023	CCT	Correspondence with D. Cotables at 2999 Turtle Cree counsel regarding same; report of the correspondence with A. Correview working draft of mand Lumar-related bankru with A. Carrillo regarding with counsel regarding ; correspondent renter; review working draft of the counsel regarding settlement agreement; review working draft counsel regarding saturation.	ck; correspondence with eview working draft of pankruptcy case; carrillo regarding same notion to lift stay in Dispetcies; correspondences; same; correspondences with Rock Creek aft of Tamamoi ise same; correspondence with correspondence with respondence with r	f; xon e e	\$385.00	\$1,001.00
06/13/2023	CCT	Telephone conference with status of listing of Hall proconference with C. Koone correspondence with interproperties.	operty; telephone ce regarding	0.90 nus	\$385.00	\$346.50
06/14/2023	CCT	Review Response to Moti declaration in support of s with C. Koonce regarding with B. Walker; correspon	same; correspondence same; correspondence		\$385.00	\$231.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 29 of 94 PageID 10349

		regarding dining table; correspondence with A. Carrillo regarding			
06/14/2023	ССТ	Correspondence with Amerigold purchaser regarding status of appeal.	0.20	\$385.00	\$77.00
06/16/2023	ССТ	Correspondence with lender on Hall property regarding status of listing.	0.20	\$385.00	\$77.00
06/19/2023	ССТ	Telephone conference with Rock Creek renter regarding status of rent payment; review order dismissing Rock Creek appeal; correspondence with counsel regarding same; correspondence with title company regarding same; telephone conference and correspondence with lender on Hall property.	1.00	\$385.00	\$385.00
06/20/2023	CCT	Meeting with C. Koonce to discuss ; telephone conference and correspondence with B. Walker regarding return of portions of escrowed funds; correspondence with Veracity regarding M365 data; review orders from Fifth Circuit panels in Barton appeals and FRAP 28; correspondence with Greystone and contractor regarding payment of additional amounts owed to contractor; correspondence with Amerigold purchaser regarding dismissal of Rock Creek appeal; telephone conference and correspondence with potential purchasers of Receivership Property; review release of lis pendens for 2999 Turtle Creek; correspondence with J. Kane regarding same; telephone conference with broker on Hall property; correspondence with Amerigold purchaser.	1.70	\$385.00	\$654.50
06/21/2023	ССТ	Correspondence with J. Kane regarding release of lis pendens; review working draft of Tamamoi settlement and motion to approve same; revise same; review Fifth Circuit docket sheets for statuses of appeals and strategy moving forward for Amerigold sale; meeting with C. Koonce to discuss same.	1.00	\$385.00	\$385.00
06/22/2023	ССТ	Review Barton's 28(j) letter disagreeing with panel decision dismissing Rock Creek appeal; correspondence with C. Koonce regarding same; telephone conference with J. Patton regarding status of Receivership; begin reviewing background information on Lost Creek litigation; telephone conferences with T. Wells regarding	1.50	\$385.00	\$577.50

Case 3:	:22-cv-021	18-X	Document 3	01	Filed 08/14/23	Pa	age 30 of 94	PageID	10350
		same.							
06/23/2023	CCT	Lost (Creek litigation;	prep us o	ground information or pare for call with G. If same; participate in tells to discuss		0.90	\$385.00	\$346.50
06/26/2023	CCT	permi D4OI with J Koon confe	ssion to file UCo auditor regardide. Mahaffey rega ce to discuss	C-3; ng sa rdin	com SBA regarding correspondence with the same; correspondence g same; meeting with telephone d broker regarding st	C.	0.60	\$385.00	\$231.00
06/27/2023	CCT	regard findin of Rid Recei D4OI suppo	ding status of congs; corresponde algeview property vership Bank reports begin reviewing of SPC Motion	st ce nce y; co gard ng w n fo	th D4OP auditor rtification and curing with potential purcha rrespondence with ing new account for orking draft of reply r Summary Judgment MSJ response for	ser in	3.10	\$385.00	\$1,193.50
06/28/2023	CCT	of rep Summ review confe	spondence with larelease; meeting; controlly brief in supportance with country Judgement; w opinion from I rence with country correspondence correspondence	ding 040 with inue ort or con Fifth sel to with	P auditor regarding for T. Wells to discuss reviewing working of SPC Motion for tinue revising same; Circuit; lengthy	inal Iraft	2.90	\$385.00	\$1,116.50
06/29/2023	ССТ	Amer Circu with J	to SPC; revise sigold purchaser it; telephone con Patton regarding	ame rega fere ng st with	notion to stay deadling correspondence with rding Opinion from Fince and corresponder atus of Frisco sale; Rock Creek purchas Creek sale.	n Fifth nce	0.70	\$385.00	\$269.50
06/30/2023	CCT	Corre	spondence with	A. (Carrillo regarding		0.10	\$385.00	\$38.50
							Quantity Subtotal		160.3

Subtotal \$60,219.50

Expenses Total \$11,919.69

Hours Total 208.4

Services Total \$69,363.50

Total \$81,283.19

Current Statement payable upon receipt and due within 30 days.

Federal Tax ID 61-1764390

Wire Payments
Veritex Community Bank
17950 Preston Road, Suite 500
Dallas, TX 75252
ABA # 113024164 Account # 30081159

Check Payments
Brown Fox PLLC
8111 Preston Road, Suite 300
Dallas, TX 75225

Credit Card Payments https://www.brownfoxlaw.com/payments

Direct payment inquiries to the Account Services Department at accounting@brownfoxlaw.com

Thank you for choosing Brown Fox. We appreciate your business.

EXHIBIT C



8111 Preston Road, Suite 300 Dallas, Texas 75225 Phone: (214) 327-5000 brownfoxlaw.com/payments

BROWN FOX

INVOICE

Invoice # 36299 Date: 08/11/2023

Barton Receivership

SEC v. Barton - Non-Receiver Activity: Asset Analysis and Recovery

Date	Initials	Description	Hours	Rate	Client Total
04/02/2023	JJM	Begin review of transaction documents between JMJ Development and Barton entities and Southern Properties Capital, focusing on the promissory notes, pledge and security agreements, HUD loan documents, assignment(s), and exercise notices for conversion options contained therein.	5.50	\$275.00	\$1,512.50
04/03/2023	JJM	Finish review of transaction documents between JMJ Development and Barton entities and Southern Properties Capital and deliver draft summary of analysis to C. Thomas and C. Koonce; phone call with C. Thomas and C. Koonce to review contractual provisions relevant to conversion process.	5.30	\$275.00	\$1,457.50
04/03/2023	CAC	Continue drafting mediation statement for Bear Creek Ranch dispute with Dixon and Lumar; conduct research regarding same; review documents produced in adversary proceeding regarding same.	2.40	\$300.00	\$720.00
04/03/2023	ССК	Review and revise motion for leave to file amicus brief and amicus brief related to Rock Creek; call ; call with J. Mahaffey regarding ; confer with C. Thomas regarding ; continue drafting SPC MSJ.	8.60	\$385.00	\$3,311.00
04/03/2023	TBW	Finish drafting Amicus Brief for Rock Creek	7.30	\$200.00	\$1,460.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 34 of 94 PageID 10354

		Appeal, research on due process in context of receivership (5.8); correspondence with M. Moore regarding bank statements for HUD audit (.4); correspondence with Move Solutions and Hot Shot Moving regarding Turtle Creek (.4); correspondence with Atmos Energy regarding addresses (.2); correspondence with Wallis Bank (.1); correspondence with B. Oliver regarding Opelika concerns (.4).			
04/04/2023	CCK	Review correspondence from Hunton regarding pending motion to compel; confer with C. Thomas regarding ; research regarding ; respond to email from Hunton's general counsel; continue drafting SPC MSJ; call with C. Thomas regarding ; call with SEC to discuss Max appeal issues and amicus filing.	6.80	\$385.00	\$2,618.00
04/04/2023	CAC	Continue drafting mediation statement for Bear Creek Ranch dispute with Dixon and Lumar; conduct research regarding same; review documents produced in adversary proceeding regarding same; review docket filings in bankruptcy case regarding same.	2.10	\$300.00	\$630.00
04/04/2023	TBW	Correspondence with counsel for Louisiana National Bank regarding Hall Street updates (.1); correspondence with M. Taylor regarding Amerigold (.1); correspondence with first insurance funding regarding payment for Rock Creek (.3); begin substantial revisions to Amicus Brief for Rock Creek appeal (4.8).	5.30	\$200.00	\$1,060.00
04/05/2023	CCK	Review motion to compel in advance of call with general counsel for Hunton; call regarding same and discussion regarding payments and documents related to origin of payments made to Hunton; review correspondence regarding personal property recovery issues; call with C. Thomas and M. Edney regarding same; review consignment contract and edit same; further revisions to amicus brief regarding Rock Creek appeal; confer with C. Thomas regarding continue drafting MSJ regarding SPC, including research related to equitable treatment of competing claims in receivership administration.	8.20	\$385.00	\$3,157.00
04/05/2023	CAC	Continue drafting mediation statement for Bear Creek Ranch dispute with Dixon and Lumar;	5.20	\$300.00	\$1,560.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 35 of 94 PageID 10355 conduct research regarding same; review documents produced in adversary proceeding regarding same; review docket filings in bankruptcy case regarding same; review HNGH's draft 2999 Turtle Creek settlement agreement; add comments to same; correspondence with Receiver regarding comments to same. 04/05/2023 TBW Finish substantial revisions to Amicus Brief for 8.30 \$200.00 \$1,660.00 Rock Creek appeal (2.9); revise Motion for Leave to file Amicus Brief (.6); review Federal Rules of Appellate Procedure for compliance (.5); correspondence with Wallis Bank (.2); continue revisions to working draft of amicus brief (.9); correspondence with J. Gitlin regarding First Development Co. of Ohio (.3); correspondence with D. Moore counsel for Landmark Grading regarding retainage application (.3); correspondence with M. Moore regarding HUD audit and review bank records for same (.6); correspondence with J. Silvasan regarding Amerigold operations (.4); call with potential buyer of Venus properties (.3); create cite regarding T. Barton control of SF Rock Creek (.6); begin reviewing and revising Goldmark cash accounting summary (.7). 04/06/2023 CAC Continue drafting mediation statement for Bear 5.60 \$300.00 \$1,680.00 Creek Ranch dispute with Dixon and Lumar; conduct research re same; review documents produced in adversary proceeding re same; review docket filings in bankruptcy case re same; meet with Receiver re ; correspondence with C. Koonce re same; review C. Koonce comments re same. 04/06/2023 **SRL** 1.10 \$110.00 \$121.00 Review production from Wallis Bank and update master chart accordingly; review productions from Texas Brand Bank for transfers between Broadview Holdings and Barton personal accounts; research regarding ownership/management of Broadview Holdings, LLC. 04/06/2023 CCK Continue drafting MSJ regarding SPC and confer 6.60 \$385.00 \$2,541.00 with T. Wells and C. Thomas regarding same; confer with assistant regarding preparation of appendix; review correspondence from Hunton regarding motion to compel; confer with team regarding same; review and revise draft settlement

agreement with HN capital; review correspondence

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 36 of 94 PageID 10356

Case 3.	ZZ-CV-UZI	18-X Document 301	Fileu 00/14/23	Page 36 01 94	PayelD	10330
		received from Hunton regar confer with S. Latham regar Barton's personal account and confer with C. Thomas ; review em Court regarding trial setting pull down or concede is stated Hunton counsel regarding their deadline to respond; or regarding MSJ arguments	arding transfers between and Broadview accours regarding and life from 68th District g that the judge will nayed; confer with agreement to continue confer with C. Thomas	en nt ot		
04/06/2023	TBW	Review receivership mail (working drafts of Goldman account cash accounting sucurrent Goldmark bills and Receiver (.5); corresponde companies regarding quote Turtle Creek Documents (with accountants regarding correspondence with M. Tafinancials (.4); begin review adding information and citic correspondence with Veragrequested files (.1); correspondence regarding	rk and Receivership immaries (2.3); review I create summary for nce with moving es for moving 2999 7); participate in call gupdates (.5); aylor regarding update wing MSJ draft and ations (3.4); city Forensics regarding	v ed	\$200.00	\$1,680.00
04/07/2023	CAC	Continue drafting mediation Creek Ranch dispute with conduct research regarding documents produced in ad- regarding same; review do bankruptcy case regarding 2999 Turtle Creek settlemed Receiver and C. Koonce re-	Dixon and Lumar; g same; review versary proceeding cket filings in same; draft revisions ent; correspondence w		\$300.00	\$1,170.00
04/07/2023	SRL	Research Alabama property records for property owned		eed 0.50	\$110.00	\$55.00
04/07/2023	CCK	Continue drafting and revi issues; review message fro district court setting sched- stayed case and confer with	m the clerk of the 68th uling conference for		\$385.00	\$2,194.50
04/07/2023	TBW	Begin revising Southern Pr Summary Judgement (.8); Spector regarding 3820 III: (.4); correspondence with same (.2); correspondence	correspondence with I inois and motion to start. Metzger regarding		\$200.00	\$840.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 37 of 94 PageID 10357 regarding miscellaneous organization and review of communications (.4); correspondence with J. Gitlin regarding First Development of Ohio (.1); correspondence with A. Hall regarding updates on properties (.1). 04/08/2023 CAC Continue drafting mediation statement for Bear 5.10 \$300.00 \$1,530.00 Creek Ranch dispute with Dixon and Lumar; conduct research regarding same; review documents produced in adversary proceeding regarding same; review docket filings in bankruptcy case regarding same; revise motion to approve 2999 Turtle Creek settlement; conduct case law research in connection with same. 04/08/2023 CCK Continue drafting SPC brief in support of MSJ; 3.50 \$385.00 \$1,347.50 draft related motion; confer with T. Wells regarding 04/10/2023 CAC Finalize draft of Bear Creek Ranch mediation 3.20 \$960.00 \$300.00 statement; send to Receiver for review; finalize draft of motion to approve 2999 Turtle Creek settlement; send to Receiver for review. 04/10/2023 CCK Confer with T. Wells regarding 7.10 \$385.00 \$2,733.50 ; continued research ; revise letter brief regarding same; begin drafting C. Thomas Declaration in support of MSJ; review and respond to emails from counsel related to stayed lawsuit in the 68th District Court; confer with T. Wells regarding ; call with J. Ansley regarding inquiries related to certain properties; review motion to compel documents related to attorney's fees and draft email responding to letter from Hunton's general counsel. 04/10/2023 TBW Prepare for status conference regarding JMJ v. 8.70 \$200.00 \$1,740.00 Tamamoi case (1.1); participate in same (.5); draft letter brief regarding federal court's authority to stay state court case in receivership and research regarding All Writs Act (1.9); correspondence with counsel for Tamamoi and 3820 Illinois (.4);

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 38 of 94 PageID 10358

Case 3.	.22-67-021	18-X Document 301	Filed 00/14/23	Paye 30 01 94	Pageib	10330
		correspondence with Vist approval for check and or (.2); prepare for second st participate in same (.4); considering the control of the contr	dering additional check atus conference (.2); onfer with C. Koonce at me of status conference bill (.1); correspondence 4OP lawsuit in Alabam Walker Dunlop miscellaneous glandscaping, moving and Amerigold Suites moving companies for ondence with J. Silvassiew and revise Souther	and e ce na r an		
04/11/2023	CAC	Correspondence with cour materials required for med		g 0.10	\$300.00	\$30.00
04/11/2023	CCK	Continue work on MSJ, we reams of contract docume adding authorities, research conferring with C. Thomas table of contents, comparison contract documents, and contract documents, and contract documents are garding missing documents.	ents and HUD regulations in the regarding same, as regarding great in the regarding great in the regarding same to various confer with assistant ents; review order from	ons, adix	\$385.00	\$3,503.50
04/11/2023	TBW	Correspondence with cour Development of Ohio (.2) counsel for Stream Energy with counsel for Texas Branch pledge agreements and ad Properties motion for sum review and revise motion (1.4); review receiver's staregarding Southern Proper add to motion for summan correspondence with auct scheduling (.1).	c; correspondence with y (.1); correspondence and Bank (.2); review d details to Southern amary judgment (2.4); for summary judgmen atus report for details rties loan amounts and ry judgment (.3);	t	\$200.00	\$940.00
04/12/2023	CAC	Implement Receiver's rev approve settlement with F Turtle Creek; call with Re correspondence with HNO regarding same; implement draft mediation statement Ranch dispute with Dixor	HNGH regarding 2999 receiver regarding same GH counsel J. Kane nt Receiver's revisions regarding Bear Creek		\$300.00	\$1,530.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 39 of 94 PageID 10359 Receiver regarding same. 04/12/2023 CCK Continue review and edits to MSJ, supporting 7 90 \$385.00 \$3,041.50 declaration, and appendix, reviewing additional documents, and adding or extracting from supporting appendix; reviewing additional facts and questions regarding same added by T. Wells; confer with C. Thomas regarding review email from accountants to T. Wells and research regarding assertions in same; review Barton's appellate brief filed in DLP appeal and review briefs filed after the record was prepared that relate to the issues in that appeal; confer with T. Wells regarding ; continue edits to MSJ documents, including adding cites to appendix. 04/12/2023 SRL Review latest Capital One production and update 0.70 \$110.00 \$77.00 master bank chart. 04/12/2023 TBW Locate documents for JMJD4 (.3); correspondence 3.70 \$200.00 \$740.00 with C. Koonce regarding same (.2); correspondence with counsel for Third Coast Bank regarding plane (.2); correspondence with J. Silvasan regarding payroll for Amerigold (.1); correspondence with K. O'Rourke regarding cutting checks for same (.1); correspondence with Vista Bank regarding additional checks (.1); review email from A. Morani (.2); confer with C. Koonce and Receiver regarding response (.1); review and revise Southern Properties MSJ specifically the pledged equity discussion and review company agreements of associated entities (2.4). 04/13/2023 Finalize motion to approve settlement with HNGH 1.40 CAC \$300.00 \$420.00 for 2999 Turtle Creek; send to Receiver for review. 04/13/2023 **SRL** 1.60 \$110.00 \$176.00 Continue to review and organize bank productions and update master bank chart accordingly. 04/13/2023 **CCK** 7.90 Continue drafting and editing brief, exhibits, \$385.00 \$3,041.50 supporting evidence and appendixes and adding references to all supporting evidence in the Thomas Dec and the Brief (78 exhibits, 1000+ pages of evidence); review response from Barton regarding

motion for leave to file amicus and order denying

Correspondence with counsel for Texas Brand

motion for same.

04/13/2023 TBW

\$460.00

2.30

\$200.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 40 of 94 PageID 10360 Bank (.3); confer with Receiver regarding same (.1); correspondence with Vista Bank regarding additional checks (.1); review Fifth Circuit order regarding motion to file amicus brief (.2); correspondence with S. Latham regarding bank records (.2); review and revise Southern Properties motion for summary judgment (1.4). 04/14/2023 CCK Review and revise draft motion to approve 0.50 \$385.00 \$192.50 settlement agreement with HN Capital. 04/14/2023 CAC Incorporate revisions to draft motion to approve 1.50 \$300.00 \$450.00 HNGH settlement regarding 2999 Turtle Creek; draft proposed order to draft motion; send same to Receiver for review and approval. 04/17/2023 CAC Continue to draft mediation statement for Bear 5.80 \$300.00 \$1,740.00 Creek Ranch dispute with Dixon and Lumar; conduct case law research and review of document production regarding same; finalize motion to approve settlement with HNGH regarding 2999 Turtle Creek. 04/17/2023 SRL Review SEC document production for bank 1.30 \$110.00 \$143.00 statements. 04/17/2023 TBW Correspondence with J. Silvasan regarding update 6.60 \$200.00 \$1,320.00 on plumbing issue at Amerigold Suites and issues with computer (.6); draft motion to confirm litigation stay (2.7); draft proposed order for same (.4); correspondence with C. Koonce regarding same (.2); correspondence with Receiver regarding (.3); correspondence with counsel to confer about motion to confirm litigation stay (.4); review Parker County appraisal website to determine properties encompassed in Lumar certifications (.3); correspondence with A. Carrillo regarding same (.1); correspondence with landscaper for Gillespie and Hall street properties (.2); correspondence with counsel for Lumar Land regarding new certifications (.2); confer with A. Carrillo and Receiver regarding same (.2). 04/18/2023 CCK Review and revise Lumar mediation statement and 2.60 \$385.00 \$1,001.00 review supporting exhibits; brief research regarding likely affirmative defenses to our claims against Lumar and Dixon; review invoice from

attorney/creditor and respond to email from same regarding claims process; further revisions to motion to confirm litigation stay and confer with T.

Case 3:	22-cv-021	18-X Document 301	Filed 08/14/23	Page 41 d	of 94	PageID	10361
		Wells regarding same; cal Carrillo to discuss mediati review of documents recei Lumar regarding same; ca appellate counsel regardin	on strategy and begin ved from Dixon and Il with the SEC's	A.			
04/18/2023	SRL	Review Veritex bank prod SEC.	uction received from	3	.90	\$110.00	\$429.00
04/18/2023	TBW	Correspondence with M. 7 Amerigold due diligence recorrespondence with coun (.1); correspondence with regarding certifications (.3 obtain contract for Goldmaregarding state court's reconcuthority and effect of vio bankruptcy context (1.3); TXU bill (.2); revise motions stay (.7); review and revise summaries (.8); lengthy mediscuss (.8); corresponde regarding filing motion to (.3).	equests (.3); sel for Pioneer Financ counsel for Lumar Lar); call with TXU to ark (.5); research ognition of federal coulating automatic stay is pay 2999 Turtle Creek on to confirm litigation e cash accounting eeting with Receiver to the country of the country	e nd art's n	5.30	\$200.00	\$1,060.00
04/18/2023	CAC	Finalize mediation statemed dispute; call with C. Koon regarding same; circulate a mediator.	ce and Receiver	nch 2	2.50	\$300.00	\$750.00
04/19/2023	CCK	Continue review of releval elements of claims and demediation with Dixon and pre-mediation call with mand call with C. Thomas remails from lender on Friswith C. Thomas regarding from counsel on Tammon motion to intervene and coregarding same.	fenses related to Lumar; participate in ediator regarding same egarding same; review co Property and confe same; review email lawsuit regarding	e	3.40	\$385.00	\$1,309.00
04/19/2023	SRL	Update Master Bank Char statements reviewed in SE		1	.70	\$110.00	\$187.00
04/19/2023	TBW	Review records for documents of the Creek Ranch transactions with counsel for Tamamoi correspondence with countregarding updates (.2); contract the Creek Ranch transactions with countregarding updates (.2); contract transactions are contracted to the Creek Ranch transactions of the Creek Ranch transactions are contracted to the Creek Ranch transactions are contracted to the Creek Ranch transactions are contracted to the Creek Ranch transactions with country transactions are contracted to the Creek Ranch transactions with country transactions are contracted to the Creek Ranch transactions with country transactions are contracted to the Creek Ranch transaction are contracted to the Creek Ranch tran	(1.6); correspondence and 3820 Illinois (.4) sel for Pioneer Financ		2.40	\$200.00	\$480.00

review summary of litigation to evaluate use of

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 43 of 94 PageID 10363

Ouco c.	22 00 021	10-X Document 301	1 11CG 00/14/20	1 agc +3 01 3+	i agcib	10000
		same for mediation; revie and T. Barton email regar included in the auction; refor SPC regarding motion C. Thomas regarding review motion and summary proceeding; respectively; review motion to summary judgment motion Ingleside.	ding personal property eview email from couns to strike and confer wi l order related to pond to email from SPO strike portions of	el th		
04/25/2023	CCK	Attend mediation regarding review emails from couns agreed motion to extend of and order regarding same property lists received from Barton and work through Thomas; respond to email regarding same; review of to Receiver's privilege promotion to strike portions of response to same.	el for SPC regarding leadlines and draft motions; review personal m M. Barton and T. response to same with from V. Barton reder for Barton to response to cool; review SPC's	C. nd	\$385.00	\$3,349.50
04/25/2023	TBW	Prepare for and participate Water Foundation and Lu		on 8.60	\$0.00	\$0.00
04/25/2023	TBW	Correspondence with cour Development of Ohio (.2) A. Morani (.4); review ba source of payments to Div records for source of payr Development of Ohio (.4) and Receiver regarding pe	r; respond to email from nk records regarding (on (.4); review bank ments to First r; confer with C. Koonc		\$200.00	\$380.00
04/26/2023	CCK	litigation stay and confer procedure for providing streview Hunton response a communications regarding Wells regarding	to same; revise and ying motion to stay DL to email from Hunton bel and confer with C. confer with C. Thomas ming application of with T. Wells regarding ame to 68th district cound further g same; confer with T. and revise notice of		\$385.00	\$654.50

7.70

\$200.00

\$1,540.00

04/26/2023 TBW

Review orders regarding motion to confirm litigation stay and motion to stay pending appeal (.3); correspondence with C. Koonce and Receiver regarding

(.2); correspondence with Sunridge Management regarding Parc at Ingleside notice (.2); compile Goldmark payroll and correspondence with K. O'Rourke regarding same (.5); review bank statements to trace earnest money and extension payments made by Titan Investments (.8); correspondence with Title Partners regarding Titan Investments file (.5); correspondence with J. Silvasan regarding miscellaneous Amerigold issues (.3); correspondence with counsel for First Development Company of Ohio (.3); correspondence with counsel for Carnegie homes regarding mail (.3); draft notice of confirmation of litigation stay for JMJ v. Tamamoi case (.9); review Dallas County local rules regarding same (.3); correspondence with counsel for Lumar Land regarding settlement agreement and new certifications (.4); review certifications and prepare for Receiver to sign (.6); confer with receiver regarding same (.2); correspondence with potential property buyer (.2); correspondence with counsel for Tamamoi and 3820 Illinois regarding order regarding litigation stay (.1); review A. Morani response email and attached documents (.5); review mail (.4); correspondence with accountants and review bank records in response to question from same (.5); respond to email from Landmark grading regarding payment status (.2).

04/27/2023	CCK	Review and revise notice of withdrawal regarding motion to compel documents; continue drafting response to motion to strike filed by SPC; brief review of objection to notice of auction and request for preliminary injunction and confer with C. Thomas regarding same.	1.20	\$385.00	\$462.00
04/27/2023	TBW	Correspondence with C. Koonce regarding questions about notices received in mail (.2); draft Notice of Motion to Withdraw Motion to Compel (1.7); correspondence with C. Koonce and Receiver regarding same (.2); correspondence with K. O'Rourke regarding filing Notice (.1); correspondence with C. Mathis regarding Venus land lease (.4); complete property tax ag exemption form for Venus property (.7); review Barton objection to auction (.4).	3.70	\$200.00	\$740.00

Case 3:	22-cv-021	18-X	Document 3	01	Filed 08/1	4/23	Pag	je 45 of 94	PageID	10365
04/27/2023	TBW		l to Elite Jet Soluto office (3.2). [_	-		3.20	\$110.00	\$352.00
04/28/2023	CCK		nue review of Obr with C. Thomas	reg				3.80	\$385.00	\$1,463.00
04/28/2023	TBW	Receir Creek corres Oliver (.4); c	paragraph regard ver's report (.5); 2023 principal a spondence with R (.1) r regarding Parc a correspondence w s list (.1); correspondence w	\$200.00	\$420.00					
04/30/2023	CCK		nue drafting Respection of Auction.	pons	e to Objection	regard	ing	3.00	\$385.00	\$1,155.00
05/01/2023	CCK	Notice exhibit Wells argum receive	nue drafting Respector Auction; revits and Appendix and C. Thomas ments regarding a ver and confer wit; continue draftetion; continue draftetion; continue draftetion to strike.	for for regard ppearth C.	and edit supposame; confervating same; list of order apposame Thomas regarder regarding	orting with T. sten to cointing rding ng notic	oral	8.40	\$385.00	\$3,234.00
05/01/2023	TBW	regard correst receiv Sunrid receiv Title 1 Partne regard respon with I coord misce from 0 review	nse auction object Hide and Seek Re- inating Tesla retrallaneous correspondence of Dallas re- we notice form Re- spondence with Managery); reveling []; reveling []; reveling []; reveling []; (3) mage correspondent of the correspo	personal proper; correspondence with spondence with spondence with Receiment (.2); beg (.9); correspondence regarding spondence (.1)	orior erty at nce with g check th Send nd ver in revis ndence mail (.4 notice Villas (.9;	era sing (1); (3);	3.60	\$200.00	\$720.00
05/02/2023	CCK	Conti	nue drafting resp	onse	to Objection	regardi	ng	1.40	\$385.00	\$539.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 46 of 94 PageID 10366 auction of Office Contents and response to Motion to Strike; call with SEC; confer with C. Thomas regarding 0.90 05/02/2023 SRL Review Chase productions for check images \$110.00 \$99.00 related to D4IN account ending 0082. 05/02/2023 **TBW** Continue reviewing and revising response to 5.40 \$200.00 \$1,080.00 auction objection (2.6); review bank production files to locate records for receivership accountants (.6); correspondence with Chase Bank regarding additional requests (.3); correspondence with M. Gill regarding insurance inspection report (.2); review additional certifications from Lumar Land (.3); call with Cushman Wakefield regarding updates on property (.2); correspondence with Receiver and E. Maldonado regarding repairs to 3600 Gillespie (.4); inspect Gillespie property [no charge for travel time] (.3); correspondence with landscaper (.2); miscellaneous communications with Receiver (.3). 05/03/2023 CCK Review and respond to email from former JMJ 5.50 \$385.00 \$2,117.50 counsel regarding trial setting for stayed case; call with C. Thomas regarding : edits to response, supporting declaration, and related order, including review and comparison of items listed in Barton's email and items already exempted by V. Barton and M. Barton; confer with C. Thomas regarding ; confer with counsel regarding SPC regarding alternate motion for order, nunc pro tunc, and draft order regarding same; email exchange with V. Barton and counsel for M. Barton regarding their retrieval of their personal items; review email from counsel from lender regarding Ridgeview property; confer with C. Thomas regarding ; review summary of work accountants will perform and budget for same; confer with T. Wells regarding bank request to close an account on which fees have rendered the balance negative. 05/03/2023 TBW Correspondence with counsel for Lumar Land 5.60 \$200.00 \$1,120.00 regarding revised certifications and partial release (.4); review revised certifications (.6); confer with Receiver regarding same (.2); correspondence with counsel for Third Coast Bank regarding JMJAV airplane (.8); review Broadview bank account records to find checks related to B. Walker (.4);

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 47 of 94 PageID 10367

Ouse o	.22 00 021	10 / Document 001 Thea 00/14/20 T	ugc +1	01 54	i ageib	10001
		correspondence with Public Storage regarding bill payment (.4); review American Benefit Life Insurance website and documents related to Ridgeview Addition (1.9); correspondence with Receiver and C. Koonce regarding same (.4); correspondence with E. Maldonado regarding repairs to Gillespie (.2); correspondence with counsel for Texas Brand Bank regarding dormant accounts (.3).				
05/04/2023	CCK	and T. Well's research regarding and T. Well's research regarding ; research regarding motions to lift stay in receivership for secured lender to proceed; draft email to B. Norris regarding same; review Barton's response to proposed privilege protocol, research regarding authorities cited and draft detailed outline for Reply.		2.60	\$385.00	\$1,001.00
05/04/2023	SRL	Begin review of bank productions and create chart of same to determine production deficiencies.		1.60	\$110.00	\$176.00
05/04/2023	TBW	Correspondence with public storage regarding account access (.4); gather updated financials for Goldmark Hospitality and send to C. Thomas (.5); correspondence with J. Silvasan regarding Dallas Housing Authority (.2); correspondence with All My Sons moving regarding refund (.3); review additional certifications from Lumar Land (.9); correspondence with counsel for Lumar regarding same (.3); confer with C. Thomas regarding certifications (.2); correspondence with accountant regarding bank statements for Parc at Ingleside (.2); review bank production for missing statement (.4); prepare letters to creditors notifying them of receivership (1.4); correspondence with Tesla to schedule vehicle return (.3); correspondence with E. Maldonado regarding repairs to Gillespie (.3); review response from Universal Solar regarding Amerigold (.2); correspondence with K. O' Rourke regarding payment for same (.1); correspondence with M. Gill regarding question about insurance report (.3); review Barton's response to proposed privilege protocol (.6).	S	6.60	\$200.00	\$1,320.00
05/05/2023	CCK	Begin drafting Reply in support of privilege protocol.		2.70	\$385.00	\$1,039.50
05/05/2023	SRL	Continue review of bank productions to determine		1.20	\$110.00	\$132.00

Case 3:	22-cv-021	L18-X	Documer	nt 301	Filed 08/14	/23	Page	48 of 94	PageID	10368
		defici	encies in doc	ument p	roductions.					
05/08/2023	SRL				ocument production chart of same.	etions	for	1.20	\$110.00	\$132.00
05/08/2023	TBW	proper Silvas S. Ran websi Dillio corres Dixon revisin review Goldn motio confer same Luma regard corres street Berns	rty solutions an regarding mer regarding te (.4); confern regarding stoppondence with regarding stoppondence with C. The regarding to the regarding stoppondence with C. The regarding insurance pondence with tein regarding pondence with the pondence with pondence with pondence with the pondence with pondence with the pond	(.3); cor same (.3); g person r with C (.2); co status of ath couns tatus of a draft of p ist (.2); co riew cert amoi and provided provided the electrical of the technique of t	payment for Interespondence with 2); correspondence with 2); correspondence with 2. Thomas regard or respondence with 2 agreement (.3); rivilege reply (accordinate payrificate of confermation (.2); ician regarding correspondence in to intervene (.3).	ith J. Ince we nuction ding with J. In e (.2); and an finish (4.8); oll for rence (4.4); garding from Gill Gilles with (3);	and spie	8.90	\$200.00	\$1,780.00
05/09/2023	TBW	Turtle A. Ha corres JMJ v stayin reviev coord M. Gi with C comm corres loans with I pay T	Creek settle Il regarding of pondence with Tamamoi co g same (.5); of final draft of inate filing so Il regarding of Thomas re unications re pondence with (.8); confer of the content of	ment (.7 updates of th court ase (.3); coordina of privile ame (.2); Gillespie garding egarding eth SBA with C. T	to motion to apply; corresponder on properties (.2 clerk regarding prepare propose the filing same (ege reply (1.4); correspondence insurance (.4); same (.2); misor receivership (.4 regarding outstead partial release (.2); correspondence to the filing same (.2); correspondence (.2); correspondence to the filing same (.2); correspondence to the filing same (.2); correspondence (.2); co	stay (2); stay (2); stay (2); stay (3); stay (4); stay (4); anding and ponde se (.2); dence	of der n er ous	6.10	\$200.00	\$1,220.00
05/11/2023	TBW	receiv Vista	ership prope bank	rties (.1) (.6); conf	aylor regarding; correspondence for with C. Thou inate paying Richard	ce with mas		4.60	\$200.00	\$920.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 49 of 94 PageID 10369 citation to city of Venus (.2); prepare for meeting with counsel for Tamamoi and 3820 Illinois (.8); participate in same (1.9); correspondence with counsel for D. Morrenoff regarding status of receivership (.4); correspondence with JLL regarding receivership properties (.2); review Rock Creek insurance renewal (.2). 05/12/2023 JJM Draft Residential Lease Agreement for 4107 Rock 1.90 \$275.00 \$522.50 Creek Drive and deliver to C. Thomas. 05/12/2023 CAC Begin review of T. Barton's response to Receiver's 0.40 \$300.00 \$120.00 motion to approve settlement with HNGH in connection with preparation to draft a reply to 05/12/2023 TBW Review Southern Properties Capital's reply to 1.70 \$200.00 \$340.00 motion to strike motion for summary judgment (.3); review list of title company transactions involving receivership entities (.5); correspondence with Sunridge property management about depositing check (.2); correspondence with Chase bank regarding missing account statements (.2); review storage charges and coordinate payment (.2); review letter from insurance carrier regarding incident at Amerigold (.3). 0.70 \$385.00 05/15/2023 CCK Review SPC's Reply in support of motion to strike \$269.50 and court's order regarding same; review Barton's Response to Motion to Approve HN Settlement; confer with C. Thomas regarding review lengthy orders granting motion to compel and motion to approve HN Capital Settlement; confer with C Thomas regarding 05/15/2023 CAC 1.10 \$300.00 \$330.00 Review T. Barton's opposition to the Receiver's motion to approve the settlement with HNGH for 2999 Turtle Creek; draft reply in support of the Receiver's motion; listen to audio recording of oral argument of SEC v. Barton before the Fifth Circuit in connection with same. 05/15/2023 TBW Correspondence with counsel for SBA regarding 4.80 \$200.00 \$960.00 status of loan documents (.6); correspondence with J. Silvasan regarding Amerigold payment issues (.4); correspondence with S. Lankford regarding

Rock Creek insurance renewal (.5); confer with C.

		Thomas regarding same (.2); review SBA loan documents (.9); coordinate creation of index for loan documents (.1); correspondence with Tesla regarding return of vehicle (.3); correspondence with Counsel for Dixon regarding settlement agreement (.5); confer with C. Thomas regarding same (.1); correspondence with counsel for Lumar (.2); correspondence with city of Venus verifying payment for Ridgeview citation (.2); correspondence with Chase bank regarding document production (.2); review order granting motion to compel (.5); review order granting motion to approve HNGH settlement (.1).			
05/16/2023	CCK	Review notices of interlocutory appeal; telephone conference with C. Thomas regarding same.	0.30	\$385.00	\$115.50
05/16/2023	TBW	Correspondence with counsel for SBA regarding missing loan documents (.2); review new files from same (.1); confer with C. Koonce, A. Carrillo, and C. Thomas regarding conference call with counsel for Dixon (.2); correspondence with Dixon regarding settlement agreement and conference call (.2); participate in conference call with same (.4); review fire inspection report from Amerigold Suites (.4); correspondence with J. Silvasan regarding same (.2); correspondence with counsel for Third Coast bank regarding plane (.2); correspondence with counsel for Pate Jones regarding updates (.2); correspondence with Hide and Seek Recovery regarding retrieval of Tesla (.2).	2.30	\$200.00	\$460.00
05/17/2023	CAC	Draft stipulation of voluntary dismissal of appeal in 2999TC Acquisitions' bankruptcy case; conduct research of ; send same to Receiver for review and signature.	1.20	\$300.00	\$360.00
05/17/2023	TBW	Confer with Receiver and co counsel regarding Lumar (.2); correspondence with movers for additional Turtle Creek documents (.2); correspondence with J. Silvasan regarding Amerigold air conditioning repairs (.2).	0.60	\$200.00	\$120.00
05/18/2023	CCK	Confer with C. Thomas regarding e; call with C. Thomas to discuss d; call with SEC to discuss questions about the record in	6.20	\$385.00	\$2,387.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 51 of 94 PageID 10371 support of the DLP settlement; begin drafting motion to intervene in Amerigold appeal; brief review of Barton's objections and responses required by order on motion to compel and confer with T. Wells regarding same. 2.30 05/18/2023 CAC Revise draft of stipulation of dismissal of adversary \$300.00 \$690.00 proceeding between 2999TC and HNGH; revise draft of stipulation of dismissal of appeal between 2999TC and HNGH. 05/18/2023 TBW 2.20 \$200.00 \$440.00 Correspondence with M. Allen regarding updates on receivership properties (.1); review Amerigold air conditioning bills (.2); coordinate payment of same (.2); correspondence with HN Capital regarding access to Turtle Creek (.2); confer with C. Thomas regarding correspondence with counsel for Lumar regarding settlement agreement (.1); briefly review same (.2). 05/19/2023 CAC Comment on Dixon's draft settlement agreement 1.60 \$300.00 \$480.00 with BM318; finalize joint stipulations to dismiss second adversary proceeding between 2999TC and HNGH and appeal between 2999TC and HNGH; correspondence with J. Kane (HNGH counsel) regarding same and motion for final decree. 05/19/2023 CCK Continue drafting Emergency Motion to Intervene 4.50 \$385.00 \$1,732.50 and Dismiss Amerigold appeal; confer with C. Thomas regarding same. 05/21/2023 CCK Review C. Thomas edits to motion to dismiss 1.70 \$385.00 \$654.50 Amerigold appeal; further edits to same and forward same to SEC. 05/22/2023 CAC Meet with Receiver to discuss 1.80 \$300.00 \$540.00 review HNGH's draft motion for a final decree. 05/22/2023 CCK 4.40 Confirm with assistant that case in Judge \$385.00 \$1,694.00 Hoffman's court is stayed and hearing set for tomorrow was cancelled; review 5th Circuit IOPs regarding emergency motions; call with the SEC regarding motion to intervene and dismiss; confer with C. Thomas regarding same; continue drafting and revising emergency motion to intervene and stay; confer with T. Wells ; email exchanges with Barton's counsel regarding emergency motion; call with 5th Circuit clerks to provide notice of same.

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 52 of 94 PageID 10372

		.10 X Document out 1		g		
05/22/2023	TBW	Correspondence with M. Gil for Rock Creek (.5); review and confer with C. Thomas review time sheets and coord Goldmark (.3); correspondence regarding landscaping (.2); but of dismiss Amerigold Suites correspondence with T. Huff conference for motion (.2); correspondence for motion (.2); correspondence with T. Huff conference for motion (.2); correspondence (.5); review records for accountants (1.1); travel to 2 return Tesla and return to off (.5); review records for inform Creek for insurance renewal with realtor for Rock Creek plocate utility account number correspondence with Veritex production of statements (.3) S. Latham regarding files nec (.3).	Alpha Testing invoice regarding same (.2); dinate payroll for nee with A. Nino oriefly review motion appeal (.3); finan regarding confer with C. Koonce ondence with eminder of overdue bank statements for 999 with C. Thomas to fice (1.6); review mail mation regarding Rocl (.4) correspondence regarding same (.2); rs for HN capital and me (.4); bank regarding sy; correspondence with	Κ	\$200.00	\$1,440.00
05/23/2023	CCK	Review and respond to email Creek regarding status and o Barton's production; review regarding Barton's non-comp contemnor bearing the burder regarding inability to comply	rder compelling and revise Notice bliance, adding cite to on of production	0.90	\$385.00	\$346.50
05/23/2023	SRL	Review document production Morgan Chase to analyze for 2017-2020 to assist accounta analysis.	bank statements from	5.50	\$110.00	\$605.00
05/23/2023	CAC	Comment on Dixon's draft so comment on Lumar's draft so email with counsel to Dixon same; send draft settlement a for comments.	ettlement agreement; and Lumar regarding	2.40	\$300.00	\$720.00
05/23/2023	TBW	Correspondence with S. Lath statements (.3); correspondence regarding Microsoft 365 logic confer with C. Koonce and C same (.2); correspondence wregarding missing bank state correspondence with T. Huff incorrect login credentials (with counsel for Dixon and I	in credentials (.2); C. Thomas regarding ith accountants ments (.2); iman regarding 1); correspondence	3.70	\$200.00	\$740.00

drafting notice of non c				
invoices for air condition Suites and coordinate properties of the correspondence with Particular regarding notices with A. Carrillo regarding regarding regarding notices with A. Carrillo regarding regarding notices with A. Carrillo regarding notices with A. Ca	rker county appraisal s for BM318 (.3); confer			
	comments to Lumar draft irculate same and Dixon's eview.	0.80	\$300.00	\$240.00
motion; review Lumar/documents; confer with	T. Wells regarding; confer with merigold and confer with	1.90	\$385.00	\$731.50
05/24/2023 SRL Continue to analyze and document productions t accountants in analysis		s 2.50	\$110.00	\$275.00
same; review SEC's bri- order denying emergene NAFER board member participation and confer same; email with T. We Carrillo regarding	; review motion to th C. Thomas regarding ef in DLP appeal; review by motion; draft email to s requesting amicus with C. Thomas regarding	A.	\$385.00	\$924.00
05/25/2023 CAC Draft motion to approve and TBW; draft propose charge]	e settlement with B. Walk ed order for same. [No	er 4.80	\$0.00	\$0.00
05/25/2023 SRL Organize and transmit ustatements to C. Breme	npdated WALL entity ban r at Ahuja & Clark.	k 0.70	\$110.00	\$77.00
05/25/2023 TBW Correspondence with S	Lankford regarding ock Creek house, electric	2.50	\$200.00	\$500.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 54 of 94 PageID 10374

		plumbing, HVAC, and roof (.3); correspondence with counsel for SBA regarding releasing UCC (.5); confer with C. Thomas regarding same (.3); correspondence with accountants regarding bank statements (.2); cursory review of First Development's motion to intervene (.4); briefly review SEC's brief regarding DLP appeal (.6); correspondence with counsel for Dixon regarding settlement agreement (.2).			
05/26/2023	CCK	Email communications with team and counsel for Dixon regarding sequencing of court approval related to settlement; call with counsel for lender on Amerigold regarding strategy to get sale closed and confer with T. Wells and C. Thomas regarding same; call with the SEC regarding denial of permission to participate in the Amerigold appeal; confer with T. Wells regarding ; call with SEC trial counsel regarding motion to intervene; further call with SEC appellate counsel regarding Barton's emergency motion to stay filed in the Fifth Circuit.	5.50	\$385.00	\$2,117.50
05/26/2023	CAC	Revise drafts of settlement agreements with Lumar and Dixon; circulate same to Lumar and Dixon's counsels; correspondence with C. Koonce regarding ; correspondence with J. Kane (counsel to HNGH) regarding motion for final decree in 2999TC bankruptcy.	1.80	\$300.00	\$540.00
05/26/2023	SRL	Continue to review, organize, and index bank productions.	3.20	\$110.00	\$352.00
05/26/2023	TBW	Correspondence with counsel for Pate Jones regarding Ridgeview Addition (.2); correspondence with counsel for Circle H regarding Ridgeview Addition (.2); review motion for partial stay (.9); correspondence with Landmark Grading regarding updates on Opelika HUD draw (.2); briefly review Dixon and Lumar settlement agreements (.5); correspondence with S. Ramer regarding M. Barton personal property (.2); review auction website for M. Barton personal items (.3); correspondence with auctioneer regarding removing personal items from auction (.3); review auction website for any additional personal items (.6).	3.40	\$200.00	\$680.00

Case 3	:22-cv-021	.18-X	Documer	nt 301	Filed 08/14/	23	Page 55	5 of 94	PageID	10375		
05/27/2023	CAC	regard claim	Review Receiver's motion for summary judgment 0.40 \$300.00 regarding Southern Properties Capital's (SPC) relaimed ownership interests in preparation for SPC's response and the Receiver's reply.									
05/28/2023	CAC	oppos		arton's n	tion in support o notion to stay	f SEC		1.40	\$300.00	\$420.00		
05/30/2023	CAC	judgn respon	sish reviewing Receiver's motion for summary 2.50 \$300.00 gment against SPC in preparation for SPC ponse and in preparation of drafting reply in sport of same.									
05/30/2023	TBW	to 299	99 Turtle Cre eary of month	ek (.2); aly expe	cCarthy regarding review and created and created see for Amerigation Goldmark (.2)	e old	ess	1.20	\$200.00	\$240.00		
05/31/2023	ССК	of opp and for comm Worth Venturegard inquin Responsible	w C. Thomas position to Ba prward same nunications was regarding fures, LLC and ding same; re ry; lengthy ar onse to MSJ a f. Wells and ; outline e to C. Thom	arton's e to the Si with cour ands cla d confer spond to ad detail and supp A. Carri	tay s's	5.80	\$385.00	\$2,233.00				
05/31/2023	SRL		rch regarding res, LLC.	g owner	ship of Marine C	Creek		0.40	\$110.00	\$44.00		
05/31/2023	TBW	motion SPC or regard corress 365 ar from Micro McCa corress at Am	n for summa declarations (ding insurance spondence with zing insurance spondence with ccounts (.8); same (.4); reverse (.4); re	ry judgr5); corrected for Roth S. Late for Roth Veragreview I wiew rects (.3); cong Turtle th J. Sill confer v. (.3)	properties respondent (1.4); briefle respondence with ock Creek (.3); ankford regarding ock Creek (.2); city regarding M list of users and the cords for lists of orrespondence were Creek (.2); vasan regarding with C. Koonce regarding correspondence of tatus (.2); review	y revin M. Co	ew Gill oft rs ing	5.10	\$200.00	\$1,020.00		

Case 3:	22-cv-021	.18-X	Document	301	Filed 08/14/23	3 I	Page 56 of	94	PageID	10376
		owner	ship of Marine	Cree	ek Ventures (.2).					
06/01/2023	CCK	Thom auction MSJ, proces	n; review aucti as regarding sa n; begin draftir focusing on arg	on come; on general commercial co	rom Barton regardir ontract and confer we confer regarding state eply in support of SI nts related to summance and discovery;	with Catus of PC nary	of)	\$385.00	\$1,424.50
06/01/2023	TBW	insura comp corres Amer C. Ko Micro Turtle pickir access mater	lete documents apondence with igold maintenar ons regarding usoft 365 data (). Creek auctioning up items and is (.9); correspondence of the corresponde	for s J. Since (applated 7); conserved general denotes the conserved for the conserv	cankford regarding 17 Rock Creek and ame (1.2); lvasan regarding .3); correspondence es from review of correspondence with egarding protocols for all questions about the with S. Latham a confer with C. Thomas	n for t about)	\$200.00	\$720.00
06/02/2023	CAC		vith M. Salitore ling next steps.	(US	T for E.D. Tex.)		0.40)	\$300.00	\$120.00
06/02/2023	CCK	declar	ration; review S n to stay; contin	SEC EC's	c to confirm no char Response to Emerg lrafting Reply in sup	gency	y)	\$385.00	\$385.00
06/02/2023	TBW	on air Small payof UCC amour regard Goldr corres Housi from	plane (.2); corre Business Adm f for D4OP loan lien (.4); review at from same (.1); ling same (.1); ling auction upon mark landscaper pondence with ng Authority pa	esponinistration and local loc	fedley regarding up- ndence with counsel ration regarding cur- l steps required to clar n documents an pay onfer with C. Thom espondence with M. (.4); prepare check scan for records (.2 lvasan regarding Da ents (.2); review ledgeth th C. Koonce regard	el for rrent elear yoff nas . Pigg c for 2); allas lger)	\$200.00	\$440.00
06/05/2023	CCK	Confe	er with T. Wells	rega	arding ;		4.50)	\$385.00	\$1,732.50

Case 3:	22-cv-021	18-X Document 301 Filed 08/14/23	Page 57 of 94	PageID 1	L0377
		; continue drafting Reply in support SPC MSJ, focusing on arguments related to scop of and basis for the Receivership Order and undisputed facts; confer with M. Mead regarding ; confer with T. Wells regarding strategy/process for having personal items picked up from Turtle Creek location; emal exchange with V. Barton regarding same.	e S		
06/05/2023	SRL	Review bank productions.	0.90	\$110.00	\$99.00
06/05/2023	CAC	Correspondence with J. Kane (HNGH) regarding resolving pending motion for sanctions in 2999T bankruptcy case; review and comment on draft agreed order to deny HNGH's motion for sanctio call with U.S. Trustee regarding next steps regarding closing 2999TC bankruptcy case.	С	\$300.00	\$150.00
06/05/2023	TBW	Correspondence with M. Pigg regarding regarding auction updates and scheduling pick up of items (.6); confer with C. Thomas regarding same (.3); emails to M. Edney, T. Huffman, and V. Barton regarding approval for M. Barton to retrieve personal items for T. Barton and V. Barton (.3); calculate interest for D4OP loan (.2); correspondence with counsel for SBA regarding payment options (.2); attempt to create online log for SBA payment (.4); correspondence with J. Silvasan regarding DHA portal (.2); correspondence with counsel for Lumar Land regarding updates (.2); correspondence with A. Hall regarding property updates (.1); correspondence with J. Medley regarding Third Coast request (.2); review DWU bill (.1); correspondence with counsel for Pate Jones and Circle H regarding Ridgeview Addition (.3); correspondence with C. Thomas and C. Koonce regarding Texas Workforce notice (.2); correspondence with C. Carr regarding status of 2999 Turtle Creek auction (.2).		\$200.00	\$700.00
06/06/2023	CCK	Research ISO Reply	2.50	\$385.00	\$962.50
06/06/2023	CAC	Review Lumar's comments to draft settlement agreement over Bear Creek Ranch; corresponder	0.20	\$300.00	\$60.00

Case 3	:22-cv-021	118-X	Document 30	01	Filed 08/14/23	Pa	age 58 of 94	PageID	10378
		deny l	, ,	_	arding agreed order to sanctions in 2999TC	0			
06/06/2023	TBW	C. Carcorres auctio corres landsc applic corres artwor with c (.3); c (.2); roinspect	cr regarding 2999 pondence with M n (.3); pay Goldr pondence with A caping (.2); review ation (.4); review pondence (.3); co ck at 2999 Turtle ounsel for SBA n oordinate paymen eview invoices fr ction work (.2); co gold invoices (.2)	(.3.2); cont (orrespondence with 2); confer with C. 3); correspondence writle Creek (.2); igg regarding finalizing TXU bill (.2); ino regarding arton's opposition to scellaneous spondence with owner each (.3); correspondent of load of same (.2); review means to the conference of the conference	fee er of nce an nail	4.10	\$200.00	\$820.00
06/07/2023	CAC	Curso	ry review SPC re	spo	nse's to Receiver's M	ISJ.	0.90	\$300.00	\$270.00
06/07/2023	CCK		nue drafting Repl ling SPC's claime				2.60	\$385.00	\$1,001.00
06/07/2023	TBW	outsta Thom payrol settler funds review Koond	as regarding sam Il and coordinate nent agreement to deposited with co v DLP sale docur	e (.1 cheo de ity comente (.2	(.4); confer with C. 1); review Amerigolo cks (.2); review DLP etermine ownership of of Fort Worth (.8); ts (.4); confer with C. 2); review Barton	of	3.00	\$200.00	\$600.00
06/08/2023	CCK	email with the regard denying second review to vacuum with Stregard	he City of Fort Whing same; reviewing motion for stand motion filed by various filings rate; call with C. SEC; prepare motion	regarder reg	arding funds on depote and email C. Thom der from Fifth Circuithout prejudice; revirton regarding same; ted to June 9 as deadlinas to discuss same; for extension of times to f SPC and continued	nas t iew line ; call	8.40	\$385.00	\$3,234.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 59 of 94 PageID 10379 ; call with HN Capital to discuss whether they are filing a response to second motion; draft Thomas declaration in support of SEC's response to second motion; further conference with SPC regarding 10 day extension and page extension; review SEC's further response to Barton's second motion for stay. 06/08/2023 CAC Continue analysis of SPC's response to Receiver's 0.50 \$300.00 \$150.00 MSJ; review Lumar's comments to settlement agreement regarding Bear Creek Ranch; call with Bobby Forshey (Lumar's counsel) regarding same. 06/08/2023 TBW Confer with C. Thomas regarding 7.90 \$200.00 \$1,580.00 (.2); correspondence with M. Pigg regarding same (.2); correspondence with Landmark Grading regarding payment for D4OP work (.2); review email from E. Espinosa regarding Fort Worth payment (.2); correspondence with Alpha Testing regarding open invoice (.3); review emergency motion to stay (.4) review letter regarding deficiencies (.2); review order granting amicus brief (.2); confer with C. Koonce regarding declaration (.2); correspondence with J. Silvasan regarding Amerigold A/C repairs (.2); fully review First Development company of Ohio's motion to lift stay (1.2); begin outlining response (.3); research intervention in receivership context (1.5); begin drafting response to motion to lift stay (2.3); correspondence with A. Hammack and friend of artwork owner at 2999 Turtle Creek to coordinate pick up (.3). 06/09/2023 CCK 7.10 Review SPC's response to further conference and \$385.00 \$2,733.50 confer with A. Carrillo and C. Thomas regarding ; continue drafting motion for extension of time and page limitation; confer with C. Thomas regarding review Tamamoi settlement agreement, extensive edits and comments to same; review Barton Reply to SEC's Response to second motion to stay and C. Thomas's declaration; review Order regarding Barton's second emergency motion; review SPC's Response to motion for extension; continue drafting Reply in support of MSJ regarding SPC.

Correspondence with J. Kane (HNGH counsel)

06/09/2023 CAC

\$510.00

1.70

\$300.00

Case 3:	22-cv-021	18-X	Document 303	Filed 08/14/23	Page 60 d	of 94	PageID	10380
		sancti finaliz and L regard	ze drafts of settleme umar; corresponde	2999TC and Barton; ent agreements with Dir nce with Dixon and Lun e review of SPC's respo	mar			
06/09/2023	TBW	with I respond Thom stays stay (extension review couns Ridge same	M. Pigg and review nse to third party in as regarding same (1.3); continue draft (3.4); review SPC's sion (.3); pay Turtle w Fifth circuit order tel for Pate Jones ar		n C. hip n to vith	.10	\$200.00	\$1,620.00
06/12/2023	CAC	Dixor chapte	n and Lumar advers	For Receivership Court ary proceeding in BM3 ne to Receiver for revieus	318	.60	\$300.00	\$480.00
06/12/2023	CCK	interv to san regard MSJ, and p perfor exercise	rene; confer with T. re; confer with C. ding ; continue drafting focusing primarily rior default argume rmance required by	Reply in support of SP on conditions preceden nts, and differentiating each agreement related tights, and distinguishing	nse PC at	.90	\$385.00	\$2,656.50
06/12/2023	TBW	(1.7); JMJ I regard Thom Count misce and D	correspondence wiedger (.2); corresponding auction items (has regarding same ty appraisal district ellaneous correspondixon (.2); confer w	(.1); review Grayson records (.6); review dence regarding Lumar ith C. Koonce regarding (.2); research ontinue drafting respon	ling - g	.60	\$200.00	\$1,520.00
06/13/2023	CCK			arding preparing Relea urtle Creek and respon		.40	\$385.00	\$2,464.00

		email from J. Kane regarding same; review emails from team regarding ; confer with T. Wells regarding e; review and revise release of lis pendens; review C. Thomas questions regarding ; revise motion to lift stay regarding Dixon/Lumar; confer with team regarding email exchanges with attorney for creditor (golf course case) seeking settlement and agreement to lift lis pendens; continue drafting Reply, focusing on evidence and arguments regarding inclusion of relevant entities in the receivership.			
06/13/2023	CAC	Review and revise draft motion to lift stay of BM318 bankruptcy case in accordance with draft settlement agreement with Lumar and Dixon.	1.20	\$300.00	\$360.00
06/13/2023	TBW	Review previous settlement agreement (.4); confer with C. Koonce regarding same (.1); revise Tamamoi settlement agreement (.3); correspondence with counsel for Tamamoi regarding revised settlement agreement (.6); correspondence with J. Silvasan regarding Amerigold (.2); finish drafting response to motion to lift stay (3.3); correspondence with A. Nino regarding landscaping and coordinate payment for same (.3); review miscellaneous receivership correspondence (.3); review mail (.5); return call to United Site Services (.1); review Lost Creek files (.4); correspondence with counsel for SBA regarding updates on receipt of payment (.4); confer with C. Thomas regarding same (.2); correspondence with counsel for American Express regarding past due bill for receivership entity (.2).	7.30	\$200.00	\$1,460.00
06/14/2023	CAC	Finalize and compile motion for final decree, proposed order, and exhibits for filing in 2999TC bankruptcy case.	0.50	\$300.00	\$150.00
06/15/2023	CCK	Continued edits to Response to Motion to Intervene; review and revise Thomas Dec in support; confer with T. Wells regarding ; call with accounting team regarding status of accounting work; summarize same for C. Thomas; continue drafting	5.20	\$385.00	\$2,002.00

Case 3:	22-cv-021	.18-X	Docun	nent 301	Filed 08/14	/23	Page 6	2 of 94	PageID	10382
		argun wheth	nents relater HUD at ion of rel	ted to "equ approval w	MSJ, focusing on itable ownership as "ministerial," ies as Receiversh	," and				
06/15/2023	CAC	declar	ations att	•	Receiver's MSJ; esponse in prepar			2.40	\$300.00	\$720.00
06/15/2023	TBW	creek (.2); r receive for fil (2.9); interestitles continued to the contin	(.4); conferview and er's declar ing motion correspondence in Operation of the countain and declaration in the countain in the	fer with C. d revise monaration, and coor indence with pelika property regarding motion (a); correspons housing	Werley regarding Thomas regarding otion to intervened appendix in pre- dinate filing of sh h property broke perty (.2); corresp g bank statement to ratify Tamamondence with J. Stauthority (.3); re	ng same, parationame r ponder ts (.3); pi	on nce ;	7.20	\$200.00	\$1,440.00
06/16/2023	CAC		n accorda		of BM318 bankı Dixon and Lumar			0.90	\$300.00	\$270.00
06/16/2023	TBW	and co Silvas (.2);co corres (.3); c	oordinate an regard ontinue de pondence	same (.3); ling A/C re rafting mot e with Terr dence with	Werley regarding correspondence epairs for Amerigation to ratify (1.2 minix regarding i K. O'Rourke reg	with J gold); nvoice	es	2.20	\$200.00	\$440.00
06/19/2023	CAC				in support of res fting motion to s		to	0.70	\$300.00	\$210.00
06/19/2023	TBW	agreer (.5); c corres repair applic	ment (1.8 onfer with appondence s (.2); reveation (.2)); prepare ph C. Koone with J. Si view order	ratify Tamamoi proposed order for regarding sam lvasan regarding granting second ifth Circuit order garding	e (.1); A/C fee		3.20	\$200.00	\$640.00
06/20/2023	CCK				egarding ntinue revising matent and multiple			2.60	\$385.00	\$1,001.00

Case 3.	ZZ-CV-UZI	18-X Document 301	Fileu 00/14/23	raye 03 01 94	PayelD	10303
		with T. Wells regarding ; call SEC attorney re of dismissal of Rock Creek appeals; further revisions t related to Turtle Creek pro SPC reply.	o release of lis pender	ld s		
06/20/2023	CAC	Finalize Dixon and Lumar and send to Receiver for si with Dixon and Lumar's codraft evidence objections a connection with SPC's respondition for summary judgments.	gnature; corresponder ounsels regarding same and motion to strike in oonse to Receiver's	ice	\$300.00	\$270.00
06/20/2023	TBW	Review and coordinate pay receivership entities (1.1); previous settlement agreen Tamamoi settlement agree Koonce regarding same (.3 loans and foreclosures (.6) Silvasan regarding Amerig	review releases from nents (.5); review ment (.3); confer with b); brief research on correspondence with		\$200.00	\$620.00
06/21/2023	CAC	Draft motion to strike evid to Receiver's motion for su review 2999TC bankruptcy Barton's pro se notice of ap	mmary judgment; y appeal docket and T		\$300.00	\$390.00
06/21/2023	CCK	confer with C. Thomas regimes; continue draft SPC MSJ; email exchange regarding Barton's pro se a and review same; confer w same.	ing Reply in support of swith HN Capital ppeal of joint dismiss.	al	\$385.00	\$693.00
06/21/2023	TBW	Revise Tamamoi settlement working draft of motion to order (1.1); correspondence landscaping and coordinate correspondence with countregarding agreement (.4); of from receivership mail box	ratify and proposed e with A. Nino regard e payment or same (.3 sel for Tamamoi open and review mail	ing	\$200.00	\$660.00
06/22/2023	CCK	Review Barton's 28(j) noti regarding dismissal in Roc C. Thomas regarding same Reply, focusing on argume nature of conversion rights Opelika transaction and the HUD approval was minister	k Creek and confer we e; continue drafting SP ents regarding executo e, distinctions between the others, arguments the	C ry	\$385.00	\$2,618.00

Case 3:	22-cv-021	18-X	Document 301	Filed 08/14/23	Page 64	of 94	PageID	10384
		_	ling "comingling" arnse to 28(j) letter in	rguments; review SEC DLP appeal.	's			
06/22/2023	CAC	in con motio declar same;	nection with its responders in for summary judgerations ISO response	e in connection with f same for Receiver's		1.70	\$300.00	\$510.00
06/22/2023	SRL		rch regarding title h Golf Course.	istory of Somerset-Los	st	0.50	\$110.00	\$55.00
06/22/2023	TBW	docum lawsu confer corres for So with J	nents from Lost Cre it (1.9); prepare sum with C. Thomas re pondence with S. La merset v. LC Aledo	atham regarding docker (.3); correspondence (.3); Air Texas invoices (.2)	.5); et	3.80	\$200.00	\$760.00
06/23/2023	CCK	wheth contin	er they plan to move tue drafting SPC Re	arton's 28(j) motion an e to dismiss Amerigolo ply; confer with A. e evidentiary questions	d;	6.40	\$385.00	\$2,464.00
06/23/2023	CAC	motio motio regard couns	n; review J. Lindaue n for final decree; ca ling same; correspon	's summary judgment er's objection to 2999T		2.70	\$300.00	\$810.00
06/23/2023	TBW	(.2); partic regard object couns review regard review	repare for meeting vipate in same (.9); colling same (.2); brieficion to final decree (el for SBA regarding vipondence with courling updates on Ven	Barton Fifth Circuit let with G. Werley (.5); onfer with C. Thomas ly review J. Lindauer .2); correspondence wig status of payment (.2) respondence (.4); asel for Pioneer Financius property (.2); briefluments and case law fr	ith 2); ee y	3.20	\$200.00	\$640.00
06/25/2023	CCK	execu distin		ply, focusing on n of same, and discussing tree other transactions	on	2.00	\$385.00	\$770.00

Case 3:	22-cv-021	18-X	Docur	ment 301	. Filed 0	8/14/23	Page 6	5 of 94	PageID	10385
06/26/2023	CAC	Respo regard declar	onse evid ling sam rations in	lence; cond e; review S a connection	to exclude uct research PC's Respo n with same ce, T. Wells	n of case lav onse e; circulate		5.70	\$300.00	\$1,710.00
06/26/2023	SRL		w Bank ex accor		production	and add sa	ime	0.40	\$110.00	\$44.00
06/26/2023	CCK	revisii respoi	ng and ti nse to ev	ghtening ar	in support or guments ar levant in the garding	nd ensuring		6.40	\$385.00	\$2,464.00
06/26/2023	TBW	Thom invoic (.3); c corres Jones review resear responding to popos for Le	as regardeses for A coordinate pondence regarding v SPC March asses (.3); opment of the Engine Party of Engine	ding same (merigold at e payment ee with coun g Ridgevie ISJ respons g review con (.4); attemp y to same (.	n SBA (.2); (.1); review and coordinate of storage unusel for Circle was Addition (.6); review applaint aga to to contact (.5); review (.5); review (.5); review (.5); review (.5); review	Air Texas the payment unit (.2); cle H and P (.4); fully earch (.9); v mail for le inst JMJ c counsel fo notice of st	ate egal r ay	8.30	\$200.00	\$1,660.00
06/27/2023	CAC	case; i Respo	review ro onse's sur	evisions to	y of BM318 motion to e gment evide he same.	xclude SPC	C's	0.50	\$300.00	\$150.00
06/27/2023	SRL	Secret forfeit	tary of Stures; res	tate's websi search regai	entities on ite to detern rding TRW oduction fil	nine tax F Lodge, L	LC;	2.30	\$110.00	\$253.00
06/27/2023	CCK	proper begin addition C. The	rty regar revision onal rese omas reg	ding deficions to Motion carch in support garding ce editing sa	th lender or ency notice to Exclude port of sam me; confer	; review and e, including ne; confer w		7.20	\$385.00	\$2,772.00
06/27/2023	TBW				A. Carrillo, of agreemen			8.20	\$200.00	\$1,640.00

(1.4);

conferring (.3); review docket for Lee Engineering v. JMJ (.2); coordinate filing of motion to stay (.2); correspondence with counsel for Tamamoi regarding updates and documents (.5); coordinate review of secretary of state status checks regarding entities standing (.3); review status of same (.3); review and revise SPC reply (4.2); research

correspondence with counsel for Pate Jones regarding Ridgeview Addition (.2); correspondence with J. Silvasan regarding fire inspection report (.2); correspondence with M. Taylor regarding same (.1); locate D4OP EIN and correspondence with M. Espinal regarding same (.3).

06/28/2023	SRL	Continue review of bank productions.	1.30	\$110.00	\$143.00
06/28/2023	CAC	Continue revising motion to exclude SPC's Response's summary judgment evidence; review Fifth Circuit's order regarding the receivership order; correspondence with Dixon's counsel remotion to lift stay of BM318 bankruptcy case; correspondence with SEC and T. Barton's counsel regarding same; review bankruptcy rules and local rules for briefing deadlines for 2999TC bankruptcy case.	0.90	\$300.00	\$270.00
06/28/2023	CCK	Continue drafting Reply in support of SPC MSJ, searching for specific references in the evidence, additional authorities, and revising as necessary; continue revising Motion to Strike regarding SPC's evidence; review appellate opinion on receivership order; confer with C. Thomas regarding same; confer with SPC regarding motion to stay deadline to reply; confer with counsel for DLP regarding Baton's attacks on his clients and C. Thomas; draft motion to stay Reply deadline.	6.90	\$385.00	\$2,656.50
06/28/2023	TBW	Correspondence with C. Roving regarding payment to Landmark (.3); review files for Landmark Grading contract at Opelika (.2); confer with C. Thomas regarding same (.1); review SPC declarations (.8); correspondence with C. Koonce regarding same (.2); review records for IRS documentation of EIN (.6); pay Goldmark Insurance (.2); correspondence with M. Espinal regarding new bank account (.2); review and revise reply to SPC (1.3); review fifth circuit order regarding receivership (.4).	4.30	\$200.00	\$860.00
06/29/2023	CAC	Review Receiver's motion to stay deadlines for	0.20	\$0.00	\$0.00

		J		
	motion for summary judgment regarding SPC. [No charge]			
06/30/2023 CAC	Correspondence with B. Forshey (Lumar's counsel) regarding status of settlement process.	0.20	\$300.00	\$60.00
06/30/2023 TBW	Review correspondence from G. Werley (.2); correspondence with S. Lankford regarding insurance carrier requests for Rock Creek (.4); correspondence with B. Forshey regarding updates on receivership (.1); correspondence with M. Espinal regarding new account opening (.2); review miscellaneous communication regarding receivership updates (.2).	1.10	\$200.00	\$220.00

Quantity Subtotal

655.3

Subtotal

\$181,337.00

SEC v. Barton – Non-Receiver Activity: Case Administration

Date	Initials	Description	Hours	Rate	Client Total
04/04/2023	TBW	Review receivership mail (.4).	0.40	\$200.00	\$80.00
04/04/2023	TBW	Travel to 2999 Turtle Creek to meet mover for auction company and Move Solutions and return to office (2.2); research additional commercial moving companies (.7); correspondence with All My Sons moving regarding quote for Turtle Creek (.2). [Rate reduced to paralegal rate]	3.10	\$110.00	\$341.00
04/07/2023	TBW	Travel to 2999 Turtle Creek to meet All My Sons moving, auction coordinator, and gather Barton family personal items (5.2); correspondence with Receiver regarding moving estimates (.2); review quotes from Move Solutions and All My Sons (.3); correspondence with Move Solutions (.1); correspondence with Hot Shot moving (.1). [Rate reduced to paralegal rate]	5.90	\$110.00	\$649.00
04/10/2023	SRL	Research regarding lawsuit filed involving Receivership Entity D4OP LLC in Alabama.	0.40	\$110.00	\$44.00
04/10/2023	TBW	Travel to Public Storage to discuss renting storage units (.5). [Rate reduced to paralegal rate]	0.50	\$110.00	\$55.00
04/11/2023	TBW	Finalize moving plans at 2999 Turtle Creek and travel to office (1.8); prepare map and organization	6.20	\$110.00	\$682.00

Case 3:22	2-cv-02118-X	Document 301	Filed 08/14/23	Page 68 of 94	PageID	10388
	with misc movi Publi	m for Turtle Creek do Receiver regarding me ellaneous communicat ng documents from T ic Storage to finalize s ced to paralegal rate]	oving strategy (.4); tions to prepare for urtle Creek (1.4); trip			
04/12/2023 S	forw	ew USPS confirmation arding ending dates an assary extensions for R	nd determine any	0.50	\$110.00	\$55.00
04/12/2023 T	super	ut packing system at 2 rvise and assist movin ments. [Rate reduced	g company with pack	8.70 ing	\$110.00	\$957.00
04/13/2023 T	Turtl stora place	rvise moving packed of e Creek; travel to storage units for document ement of document boan to office. [Rate reduce	age facility; prepare boxes; supervise xes in storage unit;	6.60	\$110.00	\$726.00
04/14/2023 T	corre corre	espondence with counspondence with counspondence with J. Silvibing issue at Amerigo	sel for S. Bedoya; wasan regarding	0.30	\$200.00	\$60.00
04/17/2023 C	confi confe Notic filed Settle 2001 regar	TC; call with the SEC e motion to approve s	; revise motion d related order and ding same; review regarding 2999 TC prior order from Lunneed to comply with § fer with C. Thomas ice regarding offers of C regarding conference	nar } n	\$385.00	\$1,193.50
04/17/2023 T	movi movi	el to 2999 Turtle Cree ers and auction photog ng of auction pieces a e reduced to paralegal	rapher and supervise nd return to office (2.	2.80	\$110.00	\$308.00
04/24/2023 T	with surve	ew receivership mail (Elite Aviation and concey airplane (.3); review spondence with same	unsel to schedule time v All My Sons bill and		\$200.00	\$1,120.00

		question (.4); correspondence with Tennessee Department of Revenue regarding past due taxes (.1); research (1.4); draft response to A. Morani email (.7); correspondence with C. Koonce regarding same (.2); review D4OP bank statements for SBA loan distributions (.6); correspondence with J. Silvasan regarding payment (.1); correspondence with K. O'Rourke regarding (.3); review M. Barton affidavit (.2); review T. Barton personal property list (.2); prepare for Dixon and Lumar mediation (.5).			
05/01/2023	SRL	Research 3.	0.70	\$110.00	\$77.00
05/03/2023	TBW	Travel to 3600 Gillespie to meet E. Maldonado to get quote on repairing porch (1.5). [Rate reduced to paralegal rate]	1.50	\$110.00	\$165.00
05/05/2023	TBW	Correspondence with City of Venus regarding citations for Ridgeview Addition (.3); review financials for Bellwether Ridge (.4) begin revising working draft of receiver's reply to privilege protocol (4.6); pay Goldmark TXU bill (.2); review correspondence regarding conference on motion from Southern Properties (.2); review receivership mail (.4).	6.10	\$200.00	\$1,220.00
05/09/2023	TBW	Travel to Gillespie to meet electrician to get quote on replacing electrical panels and return to office (1.7). [Rate reduced to paralegal rate]	1.70	\$110.00	\$187.00
05/10/2023	TBW	Review receivership mail (.4); prepare creditor letters for Burgess Wolff and J&G law (.7); pay Goldmark republic services bill (.2); correspondence with SBA regarding D4OP loan (.5); correspondence with J. Silvasan regarding air conditioning repairs at Amerigold (.3); confer with C. Thomas regarding (.2); review estimates for same (.2); correspondence with counsel for Lumar regarding settlement agreement (.3); confer with C. Thomas regarding same (.2); correspondence with All My Sons regarding credit (.2); prepare letter to Vertex bank regarding account statements (.6); correspondence with Veritex Bank regarding same (.3); correspondence with City of Venus regarding Ridgeview citations (.3); correspondence with Terminix regarding bills (.4); correspondence with	5.10	\$200.00	\$1,020.00

Case 3:	:22-cv-021	18-X Documer	nt 301	Filed 08/14/23	Page	70 of 94	PageID	10390
		R. Chappel regard lawsuit (.3).	ing Ame	erigold personals inju	ıry			
05/18/2023	TBW	Travel to 2999 Turtle Creek to meet dusk to dawn movers to pack documents, supervise packing of documents, move documents to storage, and return to office (4.5). [Rate reduced to paralegal rate]					\$110.00	\$495.00
05/19/2023	TBW	365 password (.1) regarding same (.2 for Dixon regarding review Barton's ob information (1.1); order in preparatio (.5); research regarding degin drafting notice compliance with o S. Lankford regard	confer (2); correspondent of the correspondent of t	spondence with coun ment agreement (.1); to order compelling motion to compel and afting notice to court ivilege assertions (1.3)	sel d 8); rith k	5.80	\$200.00	\$1,160.00
05/24/2023	TBW	coordinate creation (.3); review final of correspondence we insurance for Rock supplemental applications application (.6); from same (.4); corregarding production correspondence we correspondence we correspondence we correspondence we final content of the correspondence with the correspondence we correspondence we final correspondence we consider the correspondence we consider the correspondence with the correspondence we consider the correspondence we correspondence with the	n of apporting the second of t	nkford regarding (.2); complete	rke soft data	4.40	\$200.00	\$880.00
05/25/2023	TBW		nd chang	ek to meet J. McCartlee locks (4.1). [Rate	ny to	4.10	\$110.00	\$451.00
05/28/2023	CCK	Continue work on support of opposit motion to stay file	ion to Ba	arton's emergency		1.50	\$385.00	\$577.50
05/29/2023	CCK			declaration in support ergency motion for st		4.40	\$385.00	\$1,694.00
05/29/2023	TBW	Review and revise support of opposit				2.40	\$200.00	\$480.00
05/30/2023	CCK			o declaration in support by Motion for Stay,	ort	4.50	\$385.00	\$1,732.50

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 71 of 94 PageID 10391

Case 3.	.22-CV-U21	.18-X Document 301 Filed 08/14/23	Page 71 01 94	PageiD	10391
		revisions to same and forward to the SEC's appellate counsel; confer with C. Thomas and A. Carrillo regarding ; confer with members of NAFER regarding call to discuss amicus brief; ca with C. Thomas to discuss ; call with SEC's appellate counsel regarding Declaration; conference with A Carrillo and C. Thomas regarding accruing UST fees in various pending and stayed bankruptcies.	all		
05/30/2023	TBW	Travel to Bees Keys to get key made for 2999 Turtle Creek Access and return to office (.7). [Rareduced to paralegal rate]	0.70	\$110.00	\$77.00
06/02/2023	TBW	Travel to 2999 Turtle Creek to meet with auctioneer to gather remaining Barton personal items and review items (2.9); travel to Amerigol Suites to deliver checks (.5). [Rate reduced to paralegal rate]	3.40 d	\$110.00	\$374.00
06/05/2023	MRM	Correspond with C. Koonce regarding standards applicable to unemployment claim by T. Barton.	0.30	\$385.00	\$115.50
06/05/2023	TBW	Travel to 2999 Turtle Creek to meet with M. Barton and T. Barton to retrieve personal items (4.3). [Rate reduced to paralegal rate]	4.30	\$110.00	\$473.00
06/06/2023	CCK	Review Response to fee petition; review Barton's Reply in support of motion for emergency stay; call with HN Capital to discuss their amicus brief confer with C. Thomas regarding		\$385.00	\$346.50
06/07/2023	CCK	Review amicus brief filed by HN Capital; confer with C. Thomas regarding; begin drafting Reply in support of fee petition; review additional respons to amicus filed by Barton; respond to inquiry regarding status received from creditor.		\$385.00	\$385.00
06/07/2023	TBW	Travel to home depot to purchase boxes (.4); travel to 2999 Turtle Creek to meet A. Hammack and remove remaining items to storage and return to office (3.8). [Rate reduced to paralegal rate]	vel 4.20	\$110.00	\$462.00
06/14/2023	CCK	Review and revise Response to Motion to Intervene, and confer with T. Wells multiple time regarding same, including evidence supporting same; respond to inquiry from counsel for HN Capital regarding status of the Release of Lis	6.40 es	\$385.00	\$2,464.00

Case 3:22-cv-02118-X Document 301 Filed 08/14/23 Page 72 of 94 PageID 10392

		Pendens; confer with T. Wells regarding			
		call with the SEC; confer with team regarding			
		·			
06/14/2023	TBW	Correspondence with accountants regarding franchise tax filings (.2); confer with C. Koonce and C. Thomas regarding Lost Creek (.2); review and pull bank records for payments to First Development Company (1.3); pull deed records from Grayson County (.4); review deed records (.6); correspondence with Title Partners regarding Titan payments (.3); confer with C. Koonce regarding same (.2); begin Tamamoi motion to approve settlement (1.8); coordinate preparing appendix for response to motion to intervene (.4); miscellaneous correspondence regarding receivership (.4); correspondence with counsel for Wall regarding documents received for same (.2); correspondence with counsel for American Express regarding past due bill (.2); review documentation for same (.2); ensure American Express is on creditor list (.2); correspondence with C. Koons regarding updates (.3).	6.90	\$200.00	\$1,380.00
06/19/2023	CCK	Review and begin revising motion to ratify settlement with Tamamoi; review order dismissing Rock Creek appeal and confer with C. Thomas regarding same; review Order granting fee petition; email accountants requesting list of disregarded entities filed under Barton's tax return	0.90	\$385.00	\$346.50
06/26/2023	JJM	File UCC-3 Termination Letter for D4OP, LLC and deliver copy to C. Thomas.	0.30	\$275.00	\$82.50
06/29/2023	CCK	call with DLP regarding dispute over fees on deposit with the City of Fort Worth; confer with C. Thomas regarding lengthy call with SEC regarding next steps, issues related to vacatur and evidence; call with accountants regarding 5th Circuit opinion, status of forensic accounting and confer with C. Thomas regarding same; review SPC's response to motion to stay and review order granting motion; respond to email from counsel for plaintiff regarding proposed scope	4.80	\$385.00	\$1,848.00

Cust 5		.±0-/\ DU	Curricit 301	1 1160 00/14/23	i age i	3 01 34	i agcib	10090
			•	to permit an assessme ainst Barton individua				
06/29/2023	TBW	D4OP band EIN docum motion to s being down regarding I opposition rules of pro (.2); corres carrier (.2) regarding of counsel for	k account (.5); renentation (.4); contentation (.4); contentation (.4); contentation (.2); correspondent and scaping (.2); to motion to state occurrence or conference (.2); repart Jones regarding (.2); confer with the conference (.2); repart Jones regarding (.2); confer with (.4); meetically content to the conference (.4); confer with (.4); meetically conference (y (.3); review appellang timing of mandate inspector for insurance with T. Huffman correspondence with	n ute ee	3.40	\$200.00	\$680.00
06/30/2023	CCK	sale; email party seeki individuall sanctions a scope of re same; resea issues relat	with C. Thomas ng sanctions aga y; call with cour gainst Barton in evised or new rec arch regarding c ted to vacatur of	ing status of Amerigo s regarding request frainst Barton nsel for creditor seekindividually regarding ceivership and status losing and transition original receivership otion to address same	om ing of	1.80	\$385.00	\$693.00
					0	4.4. C1.4.	4-1	120.1

Quantity Subtotal

130.1

Subtotal \$26,136.50

Sale of Amerigold Suites

Date	Initials	Description	Hours	Rate	Client Total
04/18/2023	JJM	Research Uniform Condominium Act and send summary of Termination Agreement to C. Thomas for potential disposal of existing Declarations encumbering property.	1.40	\$275.00	\$385.00
04/24/2023	JJM	Phone call with L. Osterman and C. Thomas regarding potential changes in Buyer's situation.	0.30	\$275.00	\$82.50
05/30/2023	JJM	Review and begin to revise Special Warranty Deed.	0.80	\$275.00	\$220.00

06/01/2023 JJM Finish revising Special Warranty Deed; review Bill

1.70 \$275.00

\$467.50

of Sale; review Notice to Residents; review Third Amendment to Purchase and Sale Agreement; deliver updated drafts and comments to C. Thomas.

Quantity Subtotal

4.2

Subtotal

\$1,155.00

Expenses Total \$0.00

Hours Total 789.6

Services Total \$208,628.50

Total \$208,628.50

Current Statement payable upon receipt and due within 30 days.

Federal Tax ID 61-1764390

Wire Payments
Veritex Community Bank
17950 Preston Road, Suite 500
Dallas, TX 75252
ABA # 113024164 Account # 30081159

Check Payments Brown Fox PLLC 8111 Preston Road, Suite 300 Dallas, TX 75225

Credit Card Payments https://www.brownfoxlaw.com/payments

Direct payment inquiries to the Account Services Department at accounting@brownfoxlaw.com

Thank you for choosing Brown Fox. We appreciate your business.

EXHIBIT D



2901 N. Dallas Pkwy Suite 320 Plano, TX 75093 Invoice # 8227.Bar

Invoice Date: 06/30/2023

Due Date: 7/31/2023

Bill To:

Brown Fox Law - Barton Receivership

Attn: Court Thomas

BILLING SUMMARY

TASK	TASK DESCRIPTION	HOURS	AMOUNT
2900	Accounting/Auditing	307.60	\$50,997.00
3900	Tax Issues	155.30	\$38,770.00
4900	Forensic Accounting	114.70	\$26,536.00
	Expense Reimbursement		\$21,634.98

TOTAL 577.60 \$137,937.98



2901 N. Dallas Pkwy Suite 320 Plano, TX 75093 Invoice # 8227.Bar

Invoice Date: 06/30/2023

Due Date: 7/31/2023

Bill To:

Brown Fox Law - Barton Receivership

Attn: Court Thomas

BILLING SUMMARY

ID	TIMEKEEPER	TITLE	HOURS	RATE	AMOUNT
AH	Ammon Hall	Jr. Associate	14.30	\$95.00	\$1,358.50
СВ	Carolyn Bremer	Engagement Leader	6.10	\$325.00	\$1,982.50
DK	Devon Kwande	Manager	122.20	\$275.00	\$33,605.00
DP	Dawn Peterson	Administrative Staff	0.50	\$95.00	\$47.50
DS	Divya Shetty	CPA	14.80	\$275.00	\$4,070.00
JB	Jeanne – Marie Blevins	Associate	18.60	\$150.00	\$2,790.00
KW	Kiranpreet Walia	Snr Associate	85.00	\$210.00	\$17,850.00
MA	Madhu Ahuja	Engagement Leader	1.30	\$325.00	\$422.50
SH	Stacey Huser	Manager	11.90	\$275.00	\$3,272.50
SK	Shamsher Kaur	Associate	165.40	\$150.00	\$24,810.00
TC	Tony Cecil	CPA/CFE	72.40	\$275.00	\$19,910.00
VH	Viha Harikumar	Associate**	65.10	\$95.00	\$6,184.50

^{**}Associate billed at Administrative Staff rate due to nature of work performed

TOTAL 577.60 \$116,303.00



2901 N. Dallas Pkwy Suite 320 Plano, TX 75093 Invoice # 8227.Bar

Invoice Date: 06/30/2023

Due Date: 7/31/2023

Bill To:

Brown Fox Law - Barton Receivership

Attn: Court Thomas

Expense Reimbursement

DATE	DESCRIPTION	QUANTITY	RATE	AMOUNT
5/31/23	Valid8 Software for data analytics			\$16,409.55
4/30/23	April QuickBooks Online Subscriptions			\$580.97
5/31/23	May QuickBooks Online Subscriptions			\$2,322.23
6/30/23	June QuickBooks Online Subscriptions			\$2,322.23

TOTAL \$21,634.98



2901 N. Dallas Pkwy Suite 320 Plano, TX 75093 Invoice # 8227.Bar

Invoice Date: 06/30/2023

Due Date: 7/31/2023

Bill To:

Brown Fox Law – Barton Receivership

Attn: Court Thomas

Date	ID	Description	Task	Hours	Amount
04/03/23	SK	Reviewed corrections made to Form 56.	3900	0.60	\$90.00
04/04/23	DK	Reviewed list of entities compared to QuickBooks files.	3900	1.50	\$412.50
04/04/23	SK	Continued review and corrections to Form 56.	3900	0.10	\$15.00
04/04/23	SH	Tested access to Online QuickBooks files.	2900	1.30	\$357.50
		Reviewed QuickBooks and bank statements for inquiry by Mr.			
04/05/23	SH	Thomas.	2900	1.30	\$357.50
04/05/23	DK	Analyzed and updated the tax returns to be prepared.	3900	1.00	\$275.00
		Reviewed transactions regarding deposits and transfers			
04/06/23	SH	between intercompany accounts.	2900	0.50	\$137.50
04/06/23	SH	Update meeting with Mr. Thomas and Mr. Wells.	2900	0.20	\$55.00
04/07/23	СВ	Drafted and sent update on bank records to Receiver.	4900	0.30	\$97.50
		Reviewed which entities we have QuickBooks files for and			
04/10/23	DK	checking the completion of QuickBooks data.	3900	2.00	\$550.00
04/11/23	DK	Reviewed QuickBooks and data.	3900	1.00	\$275.00
04/11/23	SH	Quarterly accounting.	2900	2.00	\$550.00
04/11/23	SH	Established access to Villita Towers QuickBooks Online file.	2900	0.30	\$82.50
04/13/23	SH	2023 Quarter 1 accounting and bank reconciliations.	2900	2.00	\$550.00
		Continue 2023 Quarter 1 accounting and Standard Fund			
04/14/23	SH	Accounting Report preparation.	2900	1.50	\$412.50
0.4/4.0/00	DIC	Searched state of Delaware database to confirm which entities	0000	4.50	# 440.50
04/18/23	DK	are registered in the state of Delaware.	3900	1.50	\$412.50
04/18/23	DK	Communication with Receiver regarding prior year returns.	3900	0.10	\$27.50
		Reviewed Capital One bank records received from Receiver			
04/20/23	TC	and SEC. Prepare document inventory schedule for bank records received for each of the receivership entities.	4900	2.80	\$770.00
04/20/23	10	Reviewed Chase bank records received from SEC and	4300	2.00	\$770.00
04/21/23	TC	document bank record inventory for each Receivership entity.	4900	2.10	\$577.50
		Reviewed reports per questions from Receiver on classification			ψσσσ
04/21/23	SH	of deposits.	2900	1.00	\$275.00
		Reviewed Chase bank records received from SEC and			
04/24/23	TC	document bank record inventory for each Receivership entity.	4900	2.40	\$660.00
		Searched the state of Nevada database for Nevada			
04/24/23	DK	registrations.	3900	2.30	\$632.50

Date	ID	Description	Task	Hours	Amount
0.1/0=/==		Reviewed Chase bank records obtained from SEC and	4		**************************************
04/25/23	TC	document bank record inventory.	4900	2.30	\$632.50
04/05/00	CIZ	Reviewed entities to verify which are active in the states of	2000	4.20	CAE 00
04/25/23	SK	Delaware, Texas, or Nevada.	3900	4.30	\$645.00
04/26/23	TC	Completed review of Chase bank records. Document inventory of Chase bank records received for Receivership entities.	4900	3.60	\$990.00
04/20/23	10	Continued review of entities to verify which are active in the	4900	3.00	ψ990.00
04/26/23	SK	state of Texas.	3900	4.10	\$615.00
04/20/20	OIX	Reviewed production from banks received by Receiver and	0000	7.10	ψο το.σο
04/27/23	TC	SEC. Document bank records received.	4900	2.90	\$797.50
		Continued review of entities to verify which are active in the			***************************************
04/28/23	SK	state of Nevada.	3900	4.50	\$675.00
		Reviewed production from banks received by Receiver and			
04/29/23	TC	SEC. Document bank records received.	4900	2.10	\$577.50
		Reviewed Capital One and Veritex bank records received from			
05/01/23	TC	Receiver and SEC to date; prep data files to send to Valid8.	4900	5.60	\$1,540.00
		Preparation for and call with receiver regarding project status			
05/01/23	DK	and prior year accountant's work.	3900	0.40	\$110.00
05/02/23	SK	Resubscribed QuickBooks access to 42 entities.	2900	4.10	\$615.00
		Extracted financial reports including Profit and Loss, Balance			
		Sheet, and General Ledger for 42 entities from QuickBooks			
05/02/23	SK	Online.	2900	1.00	\$150.00
		Continued extraction of financial reports including Profit Loss,			
05/00/00	014	Balance Sheet, General Ledger, and Transaction List by	0000	7.00	#4 005 00
05/03/23	SK	Vendor & Client for 42 entities from QuickBooks Online.	2900	7.30	\$1,095.00
05/04/02	CB	Email discussion with Receiver on bank statements for analysis	4000	0.20	¢07.50
05/04/23	СВ	and estimate.	4900	0.30	\$97.50
05/04/23	SK	Reviewed entities to verify if they are active in State of Delaware and updated our record accordingly.	2900	1.70	\$255.00
03/04/23	SIX	Continued review of entities to verify if they are active in State	2900	1.70	Ψ233.00
05/05/23	SK	of Delaware and updated our record accordingly.	3900	3.90	\$585.00
05/08/23	SK	Prepared Texas Franchise Tax extensions.	3900	2.30	\$345.00
03/00/23	OIX	Reviewed and organized all PDF bank statement files in	0000	2.00	ψ0+0.00
05/09/23	SK	preparation for conversion to Excel.	4900	3.30	\$495.00
05/09/23	SK	Continued Texas Franchise Tax extension preparation.	3900	4.20	\$630.00
03/03/23	OIX	Condensed and compiled bank statements for conversion to	0000	7.20	ψ000.00
05/10/23	СВ	Excel.	4900	0.50	\$162.50
05/11/23	SK	Updated Texas Franchise Tax extensions reviewer notes.	3900	1.80	\$270.00
05/11/23	DK	Review of Texas Franchise Tax extensions.	3900	4.60	\$1,265.00
05/11/23	SK		3900		
00/11/23	٥n	Updated Texas Franchise Tax extension cover letters. Peleased 2023 Texas Franchise Tax extensions mailing	3900	2.20	\$330.00
05/11/23	DP	Released 2023 Texas Franchise Tax extensions mailing copies, instructions, and cover letter to Receiver for 66 entities.	3900	0.50	\$47.50
03/11/23	DF	Reviewed QuickBooks online and desktop files we have.	3900	0.50	φ47.50
05/12/23	DK	Reviewed guickBooks offline and desktop files we have. Reviewed transactions in those files.	3900	5.40	\$1,485.00
30/12/20	אכ	Prepared file record index according to additional entities and	0000	0.70	ψ1,-100.00
05/12/23	SK	documents received.	3900	3.30	\$495.00
20, 12,20	٠.٠	Prepared organized list of 46 entities including information such	2000	2.00	Ţ.55.55
05/15/23	SK	as EIN and status of access to QuickBooks	2900	7.70	\$1,155.00
		Reviewed and organization of data received and indexing of		-	, , , , , , , , , , , , ,
			0000	4.50	Φ04E 00
	KW	QuickBooks access.	2900	4.50	\$945.00
05/15/23	KW	Reviewed available bank statements for 28 entities and	2900	4.50	\$945.UU
	KW		2900	4.50	\$ 945.00

Date	ID	Description	Task	Hours	Amount
05/16/22	DK	Continued verification of status of QuickBooks for receivership entities.	3900	2.20	\$605.00
05/16/23	DK	Extracted available financials including Profit and Loss,	3900	2.20	φουσ.υυ
		Balance Sheet, and General ledger of 8 entities for years 2020			
05/16/23	KW	through 2022.	2900	4.00	\$840.00
00/10/20	1200	Continued to review available bank statements for 37 entities	2000	7.00	ψο-ισ.σσ
		and updated our records on latest bank statement and ending			
05/17/23	SK	balances per accounts.	2900	7.50	\$1,125.00
		Continued extraction of available financials including Profit and			, , , , ,
		Loss, Balance Sheet, and General ledger of 12 entities for			
05/17/23	KW	years 2020 through 2022.	2900	6.80	\$1,428.00
05/18/23	SK	Extracted financials for years 2020 through 2022 for 52 entities.	2900	7.20	\$1,080.00
		Continued extraction of financials for years 2020,2021, and			. ,
05/19/23	SK	2022 for 38 entities.	2900	8.60	\$1,290.00
05/19/23	KW	Reviewed and organization of bank statements for 1 entity.	2900	1.10	\$231.00
		Converted bank statements for all Wall entities to Excel for			
05/22/23	АН	analysis.	4900	5.80	\$551.00
05/22/23	DK	Performed a review of QuickBooks files for all entities.	3900	5.50	\$1,512.50
00/22/20		Continued extraction of available financials including Profit and		0.00	Ψ1,012.00
		Loss, Balance Sheet, and General ledger of 10 entities for			
05/22/23	KW	years 2020 through 2022.	2900	4.70	\$987.00
		Reviewed Wall entity bank statement documentation to			7001100
05/22/23	СВ	determine missing information.	4900	0.40	\$130.00
		Reviewed documents submitted by Mr. Palepu, the prior CPA.			
05/23/23	DK	Created an index and analysis table.	3900	3.80	\$1,045.00
05/23/23	SK	Reviewed 39 entities information on index file.	2900	5.30	\$795.00
		Reviewed bank records received from Receiver on 5/23/2023			•
05/24/23	TC	to determine if records should be converted by Valid8.	4900	2.10	\$577.50
		Reviewed QuickBooks Online access with Intuit, related			
05/24/23	SH	correspondence.	2900	0.80	\$220.00
		Verified existing discrepancies of 22 entities that do not have			
		QuickBooks online access, instead had QuickBooks desktop			
05/24/23	SK	files.	2900	7.00	\$1,050.00
05/24/23	KW	Reviewed and organized bank statements for 11 entities.	2900	7.00	\$1,470.00
		Analyzed documents from prior CPA. Comparison of			
05/24/23	DK	QuickBooks files.	3900	5.90	\$1,622.50
		Analyzed documents from prior CPA determining entities			
05/25/23	DK	ownership structure and investors.	3900	4.50	\$1,237.50
		Continued to extract financials for years 2020 through 2022 and			
05/25/23	SK	updating our records for 18 entities.	2900	1.00	\$150.00
		Converted bank statements for all Wall entities to Excel for			
05/26/23	AH	analysis	4900	2.40	\$228.00
		Continued verification of existing discrepancies of 24 entities			
		that do not have QuickBooks online access, instead had			
05/26/23	SK	QuickBooks desktop files	2900	3.30	\$495.00
05/00/00	DIA	Reviewed Staff Accountant's work on matching QuickBooks	0000	0.70	0740.50
05/26/23	DK	activity to the bank statements.	3900	2.70	\$742.50
05/00/00		Converted bank statements for all Wall entities to Excel for	4000	4.50	Φ4.4Ω 5 Ω
05/26/23	AH	analysis.	4900	1.50	\$142.50
05/20/02	DI	Reviewed Staff Accountant's work on matching QuickBooks	2000	2.00	ተ ባጋር <u></u> ባባ
05/30/23	DK	activity to the bank statements.	3900	3.00	\$825.00
05/20/02	1/\^/	Reviewed activity between QuickBooks and bank statements	2000	4.00	<u></u>
05/30/23	KW	for 10 entities.	2900	4.20	\$882.00

05/30/23 SK Reviewed bank statements to QuickBooks for 19 entities. 2900 2.90 \$435.00 05/31/23 DK Reviewed QuickBooks files activity, and project planning. 3900 4.00 \$1,100.00 05/31/23 RW entered in the Excel tracker for 30 entities. 2900 4.00 \$840.00 05/31/23 SK entitles. 2900 4.00 \$840.00 05/31/23 SK entitles. 2900 1.60 \$240.00 06/01/23 DK activity to the bank statements to QuickBooks for 12 2900 1.80 \$270.00 06/01/23 SK entitles. 2900 4.80 \$1,008.00 06/02/23 KW analyze the General Ledger. 2900 4.80 \$1,008.00 06/02/23 KW analyze the General Ledger. 2900 4.80 \$456.00 06/02/23 KP QuickBooks and on General Ledger for 23 entitles. 2900 4.80 \$456.00 06/02/23 DK Activity to the bank statements. 3900 1.00 \$275.00 <	Date	ID	Description	Task	Hours	Amount
05/31/23 DK	05/30/23	SK	Reviewed bank statements to QuickBooks for 19 entities.	2900	2.90	\$435.00
Reviewed the documents provided by the prior accountant and properties of the Excel tracker for 30 entities. 2900 4.00 \$840.00						•
05/31/23 XW entered in the Excel tracker for 30 entities. 290 4.00 \$840.00	00/01/20				1.00	Ψ1,100.00
Continued review of bank statements to QuickBooks for 11 Seventhere Seventher	05/31/23	ΚW		2900	4 00	\$840.00
06/01/23 SK entities SK entities Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 2900 1.60 \$240.00 (2001) 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000	00/01/20				1.00	φο τοισο
Reviewed Staff Accountant's work on matching QuickBooks 3900 2.30 \$632.50	05/31/23	SK		2900	1.60	\$240.00
OB/O1/23 DK activity to the bank statements. Sample Continued reviewed of bank statements to QuickBooks for 12 Continued reviewed of bank statements to QuickBooks for 12 Continued reviewed of bank statements received for 14 entities to verified bank balance to QuickBooks balance for 5 entities to verified bank balance to QuickBooks balance for 5 entities to verified bank balance to QuickBooks balance for 5 entities to verified bank balance to QuickBooks balance for 5 entities to verified bank balance to G/O2/23 VP ranges. Sample						+
Continued reviewed of bank statements to QuickBooks for 12 290	06/01/23	DK		3900	2.30	\$632.50
06/01/23 SK entities. 2900 1.80 \$270.00 06/02/23 KW verified bank balance to QuickBooks balance for 5 entities to 200 analyze the General Ledger. 2900 4.80 \$1,008.00 06/02/23 KW analyze the General Ledger. 2900 4.80 \$1,008.00 06/02/23 VP ranges. 2900 4.80 \$456.00 06/02/23 SK QuickBooks and on General Ledger for 23 entities. 2900 3.50 \$525.00 06/02/23 DK Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 3900 1.00 \$275.00 06/02/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$76.00 06/05/23 SK balance in QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00 06/05/23 SK balance in QuickBooks files against available bank statements. 3900 4.20 \$1,155.00 06/05/23 DK Reviewed QuickBooks files against available bank statements. 2900 3.90 \$370.50 06/05/23 VP ranges. 2900 3.90 \$370.50 06/05/23 TW reviewed Gournents including bank statements received for 12 entities to verify all documents received for 2900 \$3.00 \$370.50 06/05/23 TW reviewed Gournents including bank statements received for 32 entities. 2900 3.90 \$370.50 06/05/23 TW reviewed						
Verified bank balance to QuickBooks balance for 5 entities to analyze the General Ledger. Reviewed documents: including bank statements received for 11 entities to verify all documents received for specific date ranges. 2900 4.80 \$456.00	06/01/23	SK		2900	1.80	\$270.00
Reviewed Staff Accountents including bank statements received for 11 entities to verify all documents received for specific date ranges. Verified the balance of last bank statement to the balance in 2900 4.80 \$456.00			Verified bank balance to QuickBooks balance for 5 entities to			•
Reviewed documents: including bank statements received for 11 entities to verify all documents received for specific date ranges:	06/02/23	KW		2900	4.80	\$1,008.00
11 entitites to verify all documents received for specific date 2900 4.80 \$456.00						
06/02/23 VP ranges. 2900 4.80 \$456.00 06/02/23 SK QuickBooks and on General Ledger for 23 entities. 2900 3.50 \$525.00 06/02/23 DK Reviewed Staff Accountant's work on matching QuickBooks 3900 1.00 \$275.00 06/02/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$76.00 06/02/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$76.00 06/05/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$675.00 06/05/23 DK Reviewed QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00 06/05/23 DK Reviewed QuickBooks files against available bank statements. 2900 4.20 \$1,155.00 06/05/23 VP ranges. 2900 3.90 \$370.50 06/05/23 VP ranges. 2900 3.90 \$370.50 06/05/23 VP ranges. 2900 3.80 \$798.00 06/05/23 VW ranges. 2900 3.80 \$798.00 06/05/23 VW ranges. 2900 3.80 \$798.00 06/05/23 MA Reviewed project timeline and status update. 3900 0.30 \$97.50 06/05/23 MA Reviewed financial statements extracted from QuickBooks for Reviewed financial statements received for specific date afterity and proje						
06/02/23 SK QuickBooks and on General Ledger for 23 entities. 2900 3.50 \$525.00 06/02/23 DK Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 3900 1.00 \$275.00 06/02/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$76.00 06/05/23 DK Reviewed Dank documents received for 1 entity. 2900 4.50 \$675.00 06/05/23 DK Reviewed QuickBooks files against available bank statements. 3900 4.20 \$1,155.00 Reviewed documents including bank statements received for 12 entities to verify all documents received for specific date 2900 3.90 \$370.50 06/05/23 VP ranges. 2900 3.80 \$798.00 06/05/23 VV ranglyze the General Ledger for 4 entities. 2900 3.80 \$798.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 3.00 \$97.50 Reviewed Staff Accountant's work on mat	06/02/23	VP	·	2900	4.80	\$456.00
Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements.			Verified the balance of last bank statement to the balance in			
06/02/23 DK activity to the bank statements. 3900 1.00 \$275.00 06/02/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$76.00 06/05/23 SK balance in QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00 06/05/23 DK Reviewed QuickBooks files against available bank statements. 3900 4.20 \$1,155.00 Reviewed documents including bank statements received for 12 entities to verify all documents received for specific date ranges. 2900 3.90 \$370.50 06/05/23 VP anges. 2900 3.80 \$798.00 06/05/23 VW to analyze the General Ledger for 4 entities. 2900 3.80 \$798.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 3.00 \$97.50 06/05/23 MA Reviewed financial statements extracted from QuickBooks for 18 entities to verify all documents received for appecific date 2900 7.10 \$1,065.00	06/02/23	SK	QuickBooks and on General Ledger for 23 entities.	2900	3.50	\$525.00
06/02/23 VP Reviewed bank documents received for 1 entity. 2900 0.80 \$76.00 06/05/23 SK SK balance in QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00 06/05/23 DK Reviewed QuickBooks files against available bank statements. 3900 4.20 \$1,155.00 06/05/23 VP Reviewed documents including bank statements received for 12 entities to verify all documents received for specific date ranges. 2900 3.90 \$370.50 06/05/23 VP ranges. 2900 3.80 \$798.00 06/05/23 KW to analyze the General Ledger for 4 entities. 2900 3.80 \$798.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 0.30 \$97.50 06/05/23 SK Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date ranges. 2900 7.00 \$665.00			Reviewed Staff Accountant's work on matching QuickBooks			
Continued to verify the balance of last bank statements to balance in QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00	06/02/23	DK	activity to the bank statements.	3900	1.00	\$275.00
Continued to verify the balance of last bank statements to balance in QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00	06/02/23	VP	Reviewed bank documents received for 1 entity.	2900	0.80	\$76.00
06/05/23 SK balance in QuickBooks and on General Ledger for 32 entities. 2900 4.50 \$675.00 06/05/23 DK Reviewed QuickBooks files against available bank statements. 3900 4.20 \$1,155.00 Reviewed documents including bank statements received for 12 entities to verify all documents received for specific date 2900 3.90 \$370.50 06/05/23 VP ranges. 2900 3.80 \$798.00 06/05/23 KW to analyze the General Ledger for 4 entities. 2900 3.80 \$798.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 0.30 \$97.50 Reviewed dinancial statements extracted from QuickBooks for 18 entities. 2900 7.10 \$1,065.00 06/06/23 VP ranges. 2900 7.00 \$665.00 06/06/23<						
06/05/23 DK Reviewed QuickBooks files against available bank statements. 3900 4.20 \$1,155.00 06/05/23 VP Reviewed documents including bank statements received for 12 entities to verify all documents received for specific date 12 entities to verify all documents received for specific date 12 entities to verify all documents received for specific date 12 entities to verify all documents received for specific date 12 entities to verify all document the bank accounts that have been converted using Valid8 or Scan 14 entities 12 entities 12 entities 12 entities 13 entities 14 entities 14 entities 15 entities 15 entities 15 entities 16 entities 16 entities 16 entities 17 entitie	06/05/23	SK		2900	4.50	\$675.00
Reviewed documents including bank statements received for 12 entities to verify all documents received for specific date	06/05/23	DK		3900	4.20	\$1,155,00
12 entities to verify all documents received for specific date						, ,
06/05/23 VP ranges. 2900 3.90 \$370.50 06/05/23 KW to analyze the General Ledger for 4 entities. 2900 3.80 \$798.00 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 0.30 \$97.50 06/05/23 MA Reviewed project timeline and status update. 2900 7.10 \$1,065.00 06/06/23 SK 26 entities. 2900 7.10 \$1,065.00 Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date 2900 7.00 \$665.00 06/06/23 VP ranges. 2900 7.00 \$665.00 Continued verification of bank balance to QuickBooks balance 2900 7.00 \$665.00 06/06/23 KW to analyze the General Ledger for 8 entities. 2900 7.00 \$665.00 Reviewed Staff Accountant's work on matching QuickBooks 3900 3.00 \$825.00 06/06/23 AH analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 2900 5.80 \$551.00 06/07/23 VP						
Continued verification of bank balance to QuickBooks balance 06/05/23 KW to analyze the General Ledger for 4 entities. Updated listing of bank accounts to document the bank accounts that have been converted using Valid8 or Scan 06/05/23 TC Writer. Writer. Writer. Writer. Writer. Reviewed project timeline and status update. Reviewed financial statements extracted from QuickBooks for 26 entities. Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date Continued verification of bank balance to QuickBooks balance 06/06/23 VP ranges. Continued verification of bank balance to QuickBooks balance 06/06/23 DK Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. Converted bank statements for all Wall entities to Excel for 15 entities to verify all documents received for specific date Converted bank statements for all Wall entities to Excel for 15 entities to verify all documents received for specific date Converted bank statements for all Wall entities to Excel for 15 entities to verify all documents received for specific date Continued verification of bank balance to QuickBooks balance 06/07/23 VP ranges. Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. Reviewed Staff Accountant's work on matching QuickBooks Reviewed Staff Accountant's work on matching QuickBooks Reviewed Internal spreadsheet and bank statement list for 12 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities.	06/05/23	VP	·	2900	3.90	\$370.50
Updated listing of bank accounts to document the bank accounts that have been converted using Valid8 or Scan 06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 0.30 \$97.50 Reviewed financial statements extracted from QuickBooks for 260 entities. 2900 7.10 \$1,065.00 Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date ranges. 2900 7.00 \$665.00 Continued verification of bank balance to QuickBooks balance O6/06/23 KW to analyze the General Ledger for 8 entities. 2900 6.00 \$1,260.00 Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 3900 3.00 \$825.00 Converted bank statements for all Wall entities to Excel for 15 entities to verify all documents received for specific date 2900 5.80 \$551.00 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance 06/07/23 VP ranges. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks activity to the deneral Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 2900 2.00 \$300.00						
accounts that have been converted using Valid8 or Scan 4900 1.40 \$385.00	06/05/23	KW	to analyze the General Ledger for 4 entities.	2900	3.80	\$798.00
06/05/23 TC Writer. 4900 1.40 \$385.00 06/05/23 MA Reviewed project timeline and status update. 3900 0.30 \$97.50 06/06/23 SK 26 entities. 2900 7.10 \$1,065.00 Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date ranges. 2900 7.00 \$665.00 06/06/23 VP Continued verification of bank balance to QuickBooks balance activity to the bank statements. 2900 6.00 \$1,260.00 Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 3900 3.00 \$825.00 06/06/23 DK activity to the bank statements for all Wall entities to Excel for analysis. 4900 0.30 \$28.50 06/06/23 AH analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date ranges. 2900 5.80 \$551.00 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification o			Updated listing of bank accounts to document the bank			
06/05/23MAReviewed project timeline and status update.39000.30\$97.5006/06/23SK26 entities.29007.10\$1,065.0006/06/23VPReviewed documents including bank statements received for 18 entities to verify all documents received for specific date29007.00\$665.0006/06/23VPranges.29007.00\$665.00Continued verification of bank balance to QuickBooks balance29006.00\$1,260.0006/06/23KWto analyze the General Ledger for 8 entities.29006.00\$1,260.00Reviewed Staff Accountant's work on matching QuickBooks39003.00\$825.0006/06/23DKactivity to the bank statements.39003.00\$825.0006/06/23AHanalysis.49000.30\$28.50Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date29005.80\$551.0006/07/23VPranges.29005.80\$551.00Continued verification of bank balance to QuickBooks balance29003.20\$672.0006/07/23KWto analyze the General Ledger accuracy for 3 entities.29003.20\$672.00Reviewed Staff Accountant's work on matching QuickBooks06/07/23DKactivity to the bank statements.39002.20\$605.00Reviewed internal spreadsheet and bank statement list for 1206/07/23SKentities.29002.00\$300.00<			accounts that have been converted using Valid8 or Scan			
Reviewed financial statements extracted from QuickBooks for 26 entities. Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date 06/06/23 VP ranges. Continued verification of bank balance to QuickBooks balance to analyze the General Ledger for 8 entities. Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements for all Wall entities to Excel for analysis. Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. Continued verification of bank balance to QuickBooks balance for analysis. Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. Continued verification of bank balance to QuickBooks balance for analyze the General Ledger accuracy for 3 entities. Reviewed Staff Accountant's work on matching QuickBooks balance for accuracy for 3 entities. Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. SK entities. Reviewed internal spreadsheet and bank statement list for 12 entities. 2900 2.00 \$300.00	06/05/23	TC	Writer.	4900	1.40	\$385.00
06/06/23 SK 26 entities. 2900 7.10 \$1,065.00 Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date 2900 7.00 \$665.00 06/06/23 VP ranges. 2900 7.00 \$665.00 06/06/23 KW to analyze the General Ledger for 8 entities. 2900 6.00 \$1,260.00 Reviewed Staff Accountant's work on matching QuickBooks activity to the bank statements. 3900 3.00 \$825.00 Converted bank statements for all Wall entities to Excel for analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 2900 5.80 \$551.00 06/07/23 VP ranges. 2900 5.80 \$551.00 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 2900 2.00 \$300.00	06/05/23	MA	Reviewed project timeline and status update.	3900	0.30	\$97.50
Reviewed documents including bank statements received for 18 entities to verify all documents received for specific date 06/06/23 VP ranges. 2900 7.00 \$665.00 Continued verification of bank balance to QuickBooks balance 06/06/23 KW to analyze the General Ledger for 8 entities. 2900 6.00 \$1,260.00 Reviewed Staff Accountant's work on matching QuickBooks 06/06/23 DK activity to the bank statements. 3900 3.00 \$825.00 Converted bank statements for all Wall entities to Excel for analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00			Reviewed financial statements extracted from QuickBooks for			
18 entities to verify all documents received for specific date 06/06/23 VP ranges. 2900 7.00 \$665.00 Continued verification of bank balance to QuickBooks balance 06/06/23 KW to analyze the General Ledger for 8 entities. 2900 6.00 \$1,260.00 Reviewed Staff Accountant's work on matching QuickBooks 06/06/23 DK activity to the bank statements. 3900 3.00 \$825.00 Converted bank statements for all Wall entities to Excel for 06/06/23 AH analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00	06/06/23	SK	26 entities.	2900	7.10	\$1,065.00
06/06/23VP ranges.2900 7.00 \$665.0006/06/23KW to analyze the General Ledger for 8 entities.2900 6.00 \$1,260.0006/06/23DK activity to the bank statements.3900 3.00 \$825.0006/06/23DK analysis.4900 0.30 \$28.5006/06/23AH analysis.4900 0.30 \$28.50Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date2900 5.80 \$551.0006/07/23VP ranges.2900 5.80 \$551.00Continued verification of bank balance to QuickBooks balance2900 3.20 \$672.0006/07/23KW to analyze the General Ledger accuracy for 3 entities.2900 3.20 \$605.00Reviewed Staff Accountant's work on matching QuickBooks3900 2.20 \$605.0006/07/23DK activity to the bank statements.3900 2.20 \$605.00Reviewed internal spreadsheet and bank statement list for 12 entities.2900 2.00 \$300.00			Reviewed documents including bank statements received for			
Continued verification of bank balance to QuickBooks balance 06/06/23 KW to analyze the General Ledger for 8 entities. 2900 6.00 \$1,260.00 Reviewed Staff Accountant's work on matching QuickBooks 06/06/23 DK activity to the bank statements. 3900 3.00 \$825.00 Converted bank statements for all Wall entities to Excel for analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00			18 entities to verify all documents received for specific date			
06/06/23KWto analyze the General Ledger for 8 entities.29006.00\$1,260.0006/06/23DKReviewed Staff Accountant's work on matching QuickBooks activity to the bank statements.39003.00\$825.0006/06/23AHConverted bank statements for all Wall entities to Excel for analysis.49000.30\$28.50Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date29005.80\$551.0006/07/23VPranges.29005.80\$551.00Continued verification of bank balance to QuickBooks balance29003.20\$672.0006/07/23KWto analyze the General Ledger accuracy for 3 entities.29003.20\$672.00Reviewed Staff Accountant's work on matching QuickBooks06/07/23DKactivity to the bank statements.39002.20\$605.00Reviewed internal spreadsheet and bank statement list for 12 entities.29002.00\$300.00	06/06/23	VP	<u> </u>	2900	7.00	\$665.00
Reviewed Staff Accountant's work on matching QuickBooks 06/06/23 DK activity to the bank statements. 3900 3.00 \$825.00 Converted bank statements for all Wall entities to Excel for analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance Continued verification of bank balance to QuickBooks balance Reviewed Staff Accountant's work on matching QuickBooks DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 Reviewed internal spreadsheet and bank statement list for 12 Reviewed Staff Accountant's work on matching QuickBooks Reviewed internal spreadsheet and bank statement list for 12 2900 2.00 \$300.00			Continued verification of bank balance to QuickBooks balance			
06/06/23DKactivity to the bank statements.39003.00\$825.0006/06/23AHanalysis.49000.30\$28.50Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date06/07/23VPranges.29005.80\$551.00Continued verification of bank balance to QuickBooks balance06/07/23KWto analyze the General Ledger accuracy for 3 entities.29003.20\$672.00Reviewed Staff Accountant's work on matching QuickBooks06/07/23DKactivity to the bank statements.39002.20\$605.00Reviewed internal spreadsheet and bank statement list for 1206/07/23SKentities.29002.00\$300.00	06/06/23	KW		2900	6.00	\$1,260.00
Converted bank statements for all Wall entities to Excel for 06/06/23 AH analysis. 4900 0.30 \$28.50 Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00						
06/06/23AHanalysis.49000.30\$28.50Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date29005.80\$551.0006/07/23KW to analyze the General Ledger accuracy for 3 entities.29003.20\$672.00Reviewed Staff Accountant's work on matching QuickBooks06/07/23DK activity to the bank statements.39002.20\$605.00Reviewed internal spreadsheet and bank statement list for 1206/07/23SK entities.29002.00\$300.00	06/06/23	DK		3900	3.00	\$825.00
Reviewed documents including bank statements received for 15 entities to verify all documents received for specific date 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance to QuickBooks balance to QuickBooks balance (April 1990) 10/10/20 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks (April 1990) 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 (April 1990) 2.00 \$300.00						
15 entities to verify all documents received for specific date 06/07/23 VP ranges. 2900 5.80 \$551.00 Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00	06/06/23	AH	•	4900	0.30	\$28.50
06/07/23VP ranges.2900 5.80 \$551.00Continued verification of bank balance to QuickBooks balance06/07/23KW to analyze the General Ledger accuracy for 3 entities.2900 3.20 \$672.00Reviewed Staff Accountant's work on matching QuickBooks06/07/23DK activity to the bank statements.3900 2.20 \$605.00Reviewed internal spreadsheet and bank statement list for 1206/07/23SK entities.2900 2.00 \$300.00						
Continued verification of bank balance to QuickBooks balance 06/07/23 KW to analyze the General Ledger accuracy for 3 entities. 2900 3.20 \$672.00 Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00	00/07/00	٠./5	·			*== 4 . 0 . 0
06/07/23KWto analyze the General Ledger accuracy for 3 entities.29003.20\$672.00Reviewed Staff Accountant's work on matching QuickBooks06/07/23DKactivity to the bank statements.39002.20\$605.00Reviewed internal spreadsheet and bank statement list for 1206/07/23SKentities.29002.00\$300.00	06/07/23	٧٢		2900	5.80	\$551.00
Reviewed Staff Accountant's work on matching QuickBooks 06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00	00/07/00	1041		0000	0.00	#070.00
06/07/23 DK activity to the bank statements. 3900 2.20 \$605.00 Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00	06/07/23	KW		2900	3.20	\$672.00
Reviewed internal spreadsheet and bank statement list for 12 06/07/23 SK entities. 2900 2.00 \$300.00	06/07/00	DI		2000	0.00	ቀ ራለ도 ላል
06/07/23 SK entities. 2900 2.00 \$300.00	06/07/23	DK		3900	2.20	Φ005.00
	06/07/00	CIZ		2000	2.00	¢200.00
ub/U1/23 TO Reviewed bank statement conversions for all Wall entities. 4900 1.40 \$385.00						
	06/07/23	IC	Reviewed Dank Statement conversions for all Wall entities.	4900	1.40	\$385.UU

Date	ID	Description	Task	Hours	Amount
		Reviewed documents including bank statements received for			
		15 entities to verify all documents received for specific date			
06/08/23	VP	ranges.	2900	6.70	\$636.50
06/08/23	DK	Reviewed QuickBooks files against available bank statements.	3900	4.50	\$1,237.50
		Continued review of document data base to internal organizer			
06/08/23	SK	for 19 entities.	2900	2.30	\$345.00
		Continued review of bank statement conversions for Wall			
06/08/23	TC	entities.	4900	1.50	\$412.50
		Reviewed documents including bank statements received for			
06/00/22	VD	13 entities to verify all documents received for specific date	2000	E 00	¢475.00
06/09/23	VP	ranges.	2900	5.00	\$475.00
06/09/23	SK	Check and tie intercompany transactions across 36 entities.	2900	4.30	\$645.00
06/00/02	IZVA	Created intercompany transactions tab to check and tie	2000	2.00	#620.00
06/09/23	KW	intercompany transactions for 2 entities.	2900	3.00	\$630.00
06/09/23	DK	Started analysis of intercompany loans and transactions to verify all balance sheet accounts for intercompany loans agree.	3900	2.50	\$687.50
00/09/23	DK	Converted bank statements for all Wall entities to Excel for	3900	2.50	φυση.50
06/09/23	АН	analysis.	4900	1.80	\$171.00
00/03/23	AH	Analyzed intercompany loans and transactions to verify all	4300	1.00	ψ171.00
		balance sheet accounts for intercompany loans agree. Created			
06/10/23	DK	templates for reconciliations.	3900	7.00	\$1,925.00
06/12/23	DK	Reviewed intercompany loans.	3900	6.50	\$1,787.50
00/12/20		Entered the intercompany balances for each year from the	0000	0.00	Ψ1,7 07.00
06/12/23	KW	balance sheet of 10 entities in the intercompany tracker.	2900	5.60	\$1,176.00
		Reviewed documents including bank statements received for			, , , , , , , , , , , , , , , , , , , ,
		12 entities to verify all documents received for specific date			
06/12/23	VP	ranges.	2900	4.00	\$380.00
		Continued to work on the structure of intercompany transaction			
06/12/23	SK	organization for 8 entities.	2900	3.30	\$495.00
		Converted bank statements for all Wall entities to Excel for			
06/12/23	AH	analysis.	4900	1.50	\$142.50
00/40/00	014	Continued to work on the structure of intercompany transaction	0000	4.40	#
06/13/23	SK	organization for 11 entities.	2900	4.40	\$660.00
06/13/23	DK	Intercompany transaction review and reconciliation project.	3900	4.30	\$1,182.50
00/40/00	IZVAZ	Entered the intercompany balances for each year from the	0000	4.00	#040.00
06/13/23	KW	balance sheet of 6 entities in the intercompany tracker.	2900	4.00	\$840.00
		Reviewed documents including bank statements received for 2 entities to verify all documents received for specific date			
06/13/23	VP	ranges.	2900	0.70	\$66.50
00/13/23	VI	Reviewed and organization of intercompany transactions.	2300	0.70	ψ00.50
		Entered the intercompany balances for 2 entities from balance			
06/14/23	KW	sheets.	2900	6.00	\$1,260.00
06/14/23	DK	Reviewed and analyzed intercompany transactions.	3900	5.60	\$1,540.00
06/14/23	SK	Entered intercompany balances for 28 entities.	2900	5.40	\$810.00
00/17/20	OI V	Reviewed spreadsheet for the last QuickBooks activity and the	2000	0.70	ψυ 10.00
06/14/23	DS	last bank statement for 17 entities.	2900	2.80	\$770.00
50/11/20		Reviewed documents including bank statements received for 1			Ţ
06/14/23	VP	entity to verify all documents received for specific date ranges.	2900	0.50	\$47.50
	-	Performed accuracy checks /reconciliations to ensure accuracy			
06/15/23	JB	of financial activity per bank statement conversion.	4900	5.60	\$840.00
06/15/23	DK	Reviewed and analyze intercompany transactions.	3900	2.50	\$687.50
33, 3,20			5555		75555

Date	ID	Description	Task	Hours	Amount
		Reviewed Excel schedules of converted bank records for Wall			
		entities; begin to combine schedules for all bank transactions			
06/15/23	TC	for Wall entities; update list of bank accounts to be reviewed.	4900	2.30	\$632.50
		Reviewed documents including bank statements received for 3			
00/45/00	VD	entities to verify all documents received for specific date	2000	4.00	#400 F0
06/15/23	VP	ranges.	2900	1.30	\$123.50
06/15/23	DS	Reviewed spreadsheet for the last QuickBooks activity and the last bank statement for 4 entities.	2900	0.70	\$192.50
06/15/23					
06/15/23	SK	Entered intercompany balances for 6 entities in spreadsheet. Update call with Receiver (Mr. Thomas, and Ms. Koonce), Ms.	2900	0.70	\$105.00
		Ahuja, Mr. Kwande and Mr. Cecil to discuss updates and			
06/15/23	СВ	analysis of bank records.	4900	0.50	\$162.50
00/10/20	<u> </u>	Update call with Receiver (Mr. Thomas, and Ms. Koonce), Ms.	+500	0.00	ψ102.50
		Ahuja, Mr. Kwande and Ms. Bremer to discuss updates and			
06/15/23	TC	analysis of bank records.	4900	0.50	\$137.50
		Entered the intercompany balances for each year from the			
06/15/23	KW	balance sheet of each entity in the intercompany tracker.	2900	0.30	\$63.00
		Reviewed listing of bank statements converted for analysis and			
06/15/23	CB	email to see if receiver has received any additional statements.	4900	0.20	\$65.00
		Joined all converted bank transactions for Wall entities and			
06/16/23	TC	reconcile to bank records.	4900	4.80	\$1,320.00
		Reviewed documents including bank statements received for			
		14 entities to verify all documents received for specific date			
06/16/23	VP	ranges.	2900	4.00	\$380.00
		Reviewed spreadsheet for the last QuickBooks activity and the			
06/16/23	DS	last bank statement for 9 entities.	2900	1.50	\$412.50
00/40/00	A 1 1	Converted bank statements for all Wall entities to Excel for	4000	4.00	# 05.00
06/16/23	AH	analysis.	4900	1.00	\$95.00
06/16/23	SK	Entered intercompany balances for 3 entities in spreadsheet.	2900	0.60	\$90.00
06/45/22	DIZ	Meeting with Mr. Thomas, Mr. Cecil, Ms. Ahuja, Ms. Bremer,	2000	0.50	¢427 50
06/15/23	DK	and Ms. Koonce to discuss project progress.	3900	0.50	\$137.50
06/17/23	DK	Reviewed and analyzed intercompany transactions.	3900	4.00	\$1,100.00
06/40/22	TC	Begin to review Wall entity transactions; identify Inflows and	4000	6.00	¢4 970 00
06/19/23	TC	outflows (credits and debits).	4900	6.80	\$1,870.00
06/19/23	KW	Reconciliation of intercompany transactions of 60 entities.	2900	4.50	\$945.00
06/19/23	JB	Performed accuracy checks /reconciliations to ensure accuracy	4900	4.20	\$630.00
		of financial activity per bank statement conversion.			
06/19/23	SK	Entered intercompany Balances for 8 entities into spreadsheet.	2900	2.80	\$420.00
06/19/23	SK	Traced and compared intercompany transaction amounts and years for 151 entities.	2900	2.70	\$405.00
00/19/23	- OIX	Reviewed spreadsheet for the last QuickBooks activity and the	2900	2.70	ψ403.00
06/19/23	DS	last bank statement for 13 entities.	2900	2.10	\$577.50
00/13/23		Performed accuracy checks /reconciliations to ensure accuracy	2300	2.10	ψ577.50
06/20/23	JB	of financial activity per bank statement conversion.	4900	6.40	\$960.00
06/20/23	TC	Analyzed the movement of funds for the Wall entities.	4900	6.20	\$1,705.00
30/20/20		Completed cross check of intercompany transactions for 148	.500	0.20	ψ1,7 00.00
06/20/23	SK	entities.	2900	5.80	\$870.00
		Reviewed Tim Barton return to find the list of Schedule C		-	
		entities. Reconciliation of intercompany transactions for 60			
06/20/23	KW	entities.	2900	5.00	\$1,050.00
		Reviewed spreadsheet for the last QuickBooks activity and the			·
06/20/23	DS	last bank statement for 23 entities	2900	3.50	\$962.50

Date	ID	Description	Task	Hours	Amount
		Reviewed documents including bank statements received for			
		16 entities to verify all documents received for specific date			
06/21/23	VP	ranges.	2900	6.60	\$627.00
06/21/23	DK	Reviewed staff work on intercompany loans reconciliation.	3900	5.90	\$1,622.50
		Analyzed the movement of funds inflows and outflows for the			
		Wall entities. Review SEC complaint to identify key players.			
		Review QuickBooks reports for Wall entities to confirm			
06/21/23	TC	investors.	4900	5.00	\$1,375.00
06/21/23	SK	Continued review of record index for 36 entities.	2900	1.60	\$240.00
06/21/23	KW	Prepared notice tracker in Excel.	2900	0.50	\$105.00
06/21/23	JB	Exported bank activity data from Valid8 for analysis.	4900	0.30	\$45.00
00/21/20	- 05	Completed initial review of inflows outflows for all Wall entities	+000	0.00	ψ-10.00
06/22/23	TC	and prepare summary of funds movement.	4900	5.00	\$1,375.00
00/22/20	-10	Reviewed spreadsheet for the last QuickBooks activity and the	4000	0.00	ψ1,575.00
06/23/23	DS	last bank statement for 5 entities.	2900	0.70	\$192.50
00120120		Imported bank data into data analysis software to perform	2000	0.70	ψ102.00
		analysis; develop keyword searches to analyze the inflows and			
06/26/23	TC	outflows of bank transactions.	4900	7.30	\$2,007.50
00120120		Created a reconciliation template with instructions for Ms. Kaur	- 1000	7.00	Ψ2,001.00
		and Ms. Walia to reconcile intercompany transactions. Review			
06/26/23	DK	of intercompany transactions.	3900	5.50	\$1,512.50
06/26/23	CB	Reviewed summary for Receiver of forensic activity.	4900	0.30	\$97.50
					· ·
06/27/23	DK	Reviewed staff work on intercompany loans reconciliation.	3900	4.00	\$1,100.00
		Reviewed documents including bank statements received for			
00/07/00	\/D	12 entities to verify all documents received for specific date	2000	2.00	#005.00
06/27/23	VP	ranges.	2900	3.00	\$285.00
06/27/23	SK	Streamlined the structure for intercompany loans transactions tab for 73 entities.	2900	1.70	\$255.00
					•
06/28/23	DK	Reconciled intercompany loan accounts.	3900	5.30	\$1,457.50
00/00/00	Б0	Reviewed spreadsheet for the last QuickBooks activity and the	0000	0.50	# 000 F 0
06/28/23	DS	last bank statement for 20 entities.	2900	3.50	\$962.50
00/00/00	014	Data review and analyzed journal entries required based on the			****
06/28/23	SK	intercompany balances for 9 entities.	2900	2.60	\$390.00
00/00/00	101	Data review and analyzed adjusting journal entries needed for			* 400 00
06/28/23	KW	intercompany balances.	2900	2.00	\$420.00
		Reviewed documents including bank statements received for 3			
00/00/00		entities to verify all documents received for specific date	0000	4 70	0404.50
06/28/23	VP	ranges.	2900	1.70	\$161.50
		Reviewed documents including bank statements received for			
00/00/00		14 entities to verify all documents received for specific date	0000	5.00	A 475 00
06/29/23	VP	ranges.	2900	5.00	\$475.00
0010015	<u> </u>	Completed data review and analyzed journal entries required	000	4	***
06/29/23	SK	based on the intercompany balances for 4 entities.	2900	1.50	\$225.00
		Update call with Receiver (Mr. Thomas and Ms. Koonce), Ms.			
		Ahuja, Mr. Cecil, and Ms. Huser to discuss updates on			
		receivership, review forensic tracing and discuss receiver			
06/29/23	СВ	requirements for further bank tracing.	4900	1.00	\$325.00
		Update meeting with Ms. Koonce, Mr. Thomas, Mr. Cecil, Ms.			
06/29/23	MA	Huser and Ms. Bremer; review of revoked entity files.	3900	1.00	\$325.00
		Call with Receiver, Ms. Ahuja, Ms. Bremer, and Mr. Cecil to			
06/29/23	SH	discuss updates on receivership.	2900	1.00	\$275.00

Date	ID	Description	Task	Hours	Amount
		Update call with Receiver (Mr. Thomas and Ms. Koonce), Ms.			
		Ahuja, Ms. Bremer, and Ms. Huser to discuss updates on			
		receivership, review forensic tracing and discuss receiver			
06/29/23	TC	requirements for further bank tracing.	4900	1.00	\$275.00
		Reviewed documents including bank statements received for			
		15 entities to verify all documents received for specific date			
06/30/23	VP	ranges.	2900	4.30	\$408.50

<u>Total</u>	\$116,303.00		
	4		
Balance Due	\$116.303.00		

NOTE: Total Fees are net of write off fees of \$10,707.00 for internal discussions and familiarizing with background information of entities.

EXHIBIT E

EXHIBIT E-1

Veracity Forensics LLC

5220 Spring Valley Rd Ste 220
Dallas, TX 75254 US
877-499-6878
accounting@veracity-forensics.com



INVOICE

 BILL TO
 INVOICE
 759

 Cortney C. Thomas, Receiver
 DATE
 04/30/2023

 8111 Preston Rd., Suite 300
 TERMS
 Due on receipt

 Dallas, TX 75225
 DUE DATE
 04/30/2023

REFERENCE TX LICENSE VF PROJECT
Barton Receivership A22974701 20221019-D01-BTR

DESCRIPTION	QTY	RATE	AMOUNT
Forensic Image Computer – Windows 3rd Floor Dell LT (041)	1	750.00	750.00T
Forensic Image of External Drive Saskya's 3rd Floor Kingston TD (43) Max 3rd Floor HR TD (045)	2	500.00	1,000.00T
Analyst Time Export and upload "Tax and Entity" documents, provide summary report of 041 and 045, export of all files from 045 and targeted export of targeted export based on file type of 041	4.25	285.00	1,211.25T
Storage of Original Devices Monthly Storage Feb (24), Mar (24) and Apr (25)	73	25.00	1,825.00T
Desktop Computers (13), (004, 005, 008, 010, 012, 020, 021, 022, 023, 026, 031, 032, 033)			
Laptop Computers (5), (013, 024, 030, 034, 041)			
Server (3), (006, 009, 025)			
Internal HD's (4), (001, 008a, 027, 036)			
Flash Drives (011, 014, 015, 016, 017, 018, 019, 028, 029, 037, 040a, 040b, 040c, 043, 045)			
Various CD's, DVD', Dongles, SD Cards, Storage Bin			
Receiver Discount (12%)	1	-574.35	-574.35

)	PageID 10410	Page 90 of 94	Filed 08/14/23	Document 301	Case 3:22-cv-02118-X	
4,211.90			SUBTOTAL			
394.87			TAX			
4,606.77			TOTAL			

BALANCE DUE

\$4,606.77

EXHIBIT E-2

Veracity Forensics LLC

5220 Spring Valley Rd Ste 220
Dallas, TX 75254 US
877-499-6878
accounting@veracity-forensics.com



INVOICE

BILL TO INVOICE 773

 Barton Receivership
 DATE
 05/31/2023

 8111 Preston Rd., Suite 300
 TERMS
 Due on receipt

 Dallas, TX 75225
 DUE DATE
 05/31/2023

REFERENCE TX LICENSE VF PROJECT
Barton Receivership A22974701 20221019-D01-BTR

DESCRIPTION	QTY	RATE	AMOUNT
Analyst Time M365 administration, change Admin password, implement legal hold, verify all other users were logged out, export report for all active users, call with receiver,	9.40	285.00	2,679.00T
Receiver Discount 12%	-1	321.48	-321.48T
We appreciate the opportunity to be of service. ACH & check payments are preferred and	SUBTOTAL		2,357.52
credit card payments are accepted with a 3.5% processing fee. Please email accounting@veracity-forensics.com to request a payment link.	TAX		194.50
	TOTAL		2,552.02
	BALANCE DUE		\$2,552.02

EXHIBIT E-3

Veracity Forensics LLC

5220 Spring Valley Rd Ste 220
Dallas, TX 75254 US
877-499-6878
accounting@veracity-forensics.com



INVOICE

BILL TO INVOICE

 Barton Receivership
 DATE
 06/30/2023

 8111 Preston Rd., Suite 300
 TERMS
 Due on receipt

 Dallas, TX 75225
 DUE DATE
 06/30/2023

REFERENCE TX LICENSE VF PROJECT
Barton Receivership A22974701 20221019-D01-BTR

DESCRIPTION	QTY	RATE	AMOUNT
Analyst Time Investigation AD permission, initiate full eDiscovery export	9.75	285.00	2,778.75T
Materials M365 Licensing	1	53.60	53.60T
Receiver Discount 12%	1	-333.45	-333.45
We appreciate the opportunity to be of service. ACH & check payments are preferred and credit card payments are accepted with a 3.5% processing fee. Please email	d	SUBTOTAL	2,498.90
accounting@veracity-forensics.com to request a payment link.		TAX	233.67
		TOTAL	2,732.57
		BALANCE DUE	\$2,732.57

805